TCSiON CAE

Notations :
1.Options shown in green color and with ¥ icon are correct.
2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : General Studies and Mental ability
Subject Name : General Studies and Mental ability
Actual Answer Key : Yes
Calculator : None
Magnifying Glass Required? : No

Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No

Show Watermark on Console? : Yes
Highlighter : No

Auto Save on Console? Yes
Change Font Color : No
Change Background Color : No
Change Theme : No

Help Button : No

Show Reports : No

Show Progress Bar : No

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 630680169605 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which of the following statements is/are correct about branches of Life Sciences?

A.Astrobiology is the study of bacteria.
B.Anatomy, a field in the biological sciences concerned with the identification and description of the body structures of living things.
C.Biotechnology uses living cells to develop or manipulate products for specific purposes, such as genetically modified foods.
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Options :

1. ®* Both A and B

A BN B Bokyr
2. ¥ Both Band C

B 080 C Boky
3. % Only A



33500 A
4. % Only C

2S00 C

Question Number : 2 Question Id : 630680169606 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The following item consist of two Statements: one labelled as the ‘Assertion (A)’ and the other as ‘Reason (R)’. You are to examine these two
statements carefully and select the answers to these items using the codes given below:

Assertion (A): Spirogyra, Ulothrix, Cladophora and Chara are grouped under Thallophyta.
Reason (R): Spirogyra, Ulothrix, Cladophora and Chara lack roots, stem, leaves, and vascular system.

&3 (808 9030 BO (DELIS DR GOLNOR: 2,8€3 'S (A) SO HTEES '5°B€I0 (R) @ Band BONVR0R.

S ? BO (HEEI3 2B HOIODOD, BHIS AN IS TR GHTIAOD & 0F°E ST D
DONETO:

TES (A): RIBBO", &S (B8, SEFT HOAM T0° 00 TS DEF 180 1175 TOHFOW.
5320 (R): RIBT0", &S HE), SEFT" OO T0° 50 D, P00, e350EN BN SETF S5 B
Options :

1. ¥ Both A and R are individually true and R is the correct explanation of A

A 08350 R BOK 2,57 823 OB OO0 R 9O A BB30EY DT 3B
2. # Both A and R are individually true but R is NOT the correct explanation of A

A HBAW R Oy 5850 OB 5°0 R IO A TBwEy DTS DeIBed 5°¢H

3. # A is true but R is false

A 2)) SR )
4. #® A is false but R is true.

A ) AR 23))

Question Number : 3 Question Id : 630680169607 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The following item consist of two Statements: one labelled as the ‘Assertion (A)’ and the other as ‘Reason (R)’. You are to examine these two
statements carefully and select the answers to these items using the codes given below:

Assertion (A): Ozone depletion refers to the phenomenon of reductions in the amount of ozone in the stratosphere.

Reason (R): There are high levels of chlorine and bromine compounds in the stratosphere, the origins of these compounds are
chlorofluorocarbons (CFC), used as cooling substances in air-conditioners and refrigerators, or as aerosol propellants, and bromo-
fluorocarbons (halons), used in fire extinguishers.
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Options :
1. ¥ Both A and R are individually true and R is the correct explanation of A

A 083050 R BOKT 2,572,823 OB 53 08050 R 9T A B30E) OB DedBed
2. # Both A and R are individually true but R is NOT the correct explanation of A
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3. ® Ais true but R is false
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4. ® A is false but R is true.
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Question Number : 4 Question Id : 630680169608 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

Which of the following statements is /are correct about the World Economic Forum meeting between 16-20 January 2023?

A.The WEF 2023 meeting was held at Davos in Switzerland.

B.The theme of the WEF 2023 meeting was ‘Cooperation in a Fragmented World’.

C. The WEF 2023 meeting was chaired by Gita Gopinath, the Deputy Managing Director of the International Monetary Fund (IMF).
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A. WEF 2023 3357330 2 40T0BS oSS 236A08.

B. WEF 2023 D3350 3008y S 'DD Y S (D006 HFse80'.
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Options :

1. # Only A

A S(had
2. % Only B

B X555
3. Only A and B

A 083050 B S5°(¢had
4. % OnlyBandC

B 30805 C Sr|esed

Question Number : 5 Question Id : 630680169609 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33



Match the roles in international associations in list-I with the countries in list-IL.
List I (International List IT
Associations) (Countries)
BRICS (2023) Chair i India

G20 (2023) Presidency |ii | South Africa
ASEAN (2023) Chair | iii | United Arab
Emirates

D | COP 28 (2023) Host iv | Indonesia
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Options :

1. # A-iii, B-i, C-iv, D-ii
A-iii, B-i, C-iv, D-ii

2. ¥ A-ii, B-i, C-iv, D-iii
A-ii, B-i, C-iv, D-iii

3. ® A-ii, B-iv, C-i, D-iii
A-ii, B-iv, C-i, D-iii

4. ® A-ii, B-i, CAiii, D-iv

A-ii, B-i, C-iii, D-iv

Question Number : 6 Question Id : 630680169610 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The following item consist of two Statements: one labelled as the ‘Assertion (A)’ and the other as ‘Reason (R)’. You are to examine these two
statements carefully and select the answers to these items using the codes given below:

Assertion (A): 5G services were launched in India on 1st October 2022.

Reason (R): Keeping in view India’s specific requirements and to take lead in 5G deployment, Department of Telecommunications (DOT)
approved financial grant for multi-institute collaborative project to set up ‘Indigenous 5G Test Bed’ at five locations
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Options :

1. * Both A and R are individually true and R is the correct explanation of A
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2. ¥ Both A and R are individually true but R is NOT the correct explanation of A

A 308350 R BOKT 2,53.82¢3m OBSS 5°Q R @93 A G30EY OB DedBed 5°¢H
3. # A is true but R is false
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Question Number : 7 Question Id : 630680169611 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which one of the following statements is/are correct about Indian Premier League (IPL) 2022?

A. Gujarat Titans have been crowned champions of the Indian Premier League (IPL) 2022.
B. Mumbai Indians Finished Second in IPL 2022.
C. Yuzvendra Chahal claimed the Orange Cap in IPL 2022.
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A. ROAOHS DW0HE OF (IPL) 202265 H230°S BIEFS ) TODONST D0,
B. IPL 202265° S00B R0AGHNS ) Bo& 505’ AOQ0A.
C. AS0Z 0[S T3S IPL 202265 B0 S50 FOTC.

Options :
1. ® Only A and B

A HOOSW B S°(¢had
2. % Only B and C

B 083050 C S5
3. # Only C

C S5
4. v Only A

A S(ehad

Question Number : 8 Question Id : 630680169612 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



Match the Indian Sports Events held in 2022 in List I to the Winners in List II:

List I (Sports Event- List IT
2022) (Winner)
A | Ranji Trophy 2021-22 i Madhya
Pradesh
B | Duleep Trophy i [Kerala
C | Dwrand Cup iii | Bengaluru
D | Santosh Trophy iv_ | West Zone

arde [65° 202265° 2005 rodio S SOfEArOR D 11e5°D DHFeversd {oﬁﬁﬁot)oé,:
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S0g50-2022)
A | 50 ¢5%> 2021-22 I | soegons
B | b5 5% i | gow
C | ool 8D il | Boristr
D | vo8a 5 v |25 8%
Options :

1. ® A-ii, B-iv, C-iii, D-i
A-ii, B-iv, C-iii, D-i
2. ® A, B-iii, C-iv, D-ii
A-i, B-iii, C-iv, D-ii
3. ¥ A-i, B-iv, C-iii, D-ii
A-i, B-iv, C-iii, D-ii
4. ® A-iv, B-i, C-iii, D-ii

A-iv, B-i, C+iii, D-ii

Question Number : 9 Question Id : 630680169613 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



Match the Sportsperson in news during the year 2022 in List I with the Name of Sport he/she
plays in List II.

List I (Sports Person) List I (Sport)
A | Neeraj Chopra i | Steeplechase
B | Avinash Sable ii | Badminton
C | HS Prannoy iii | Boxing
D | Nikhat Zareen iv_| Javelin

2022 ;’oo.;‘_)e:ﬁ;)coé" ooges’ &y SsrAD D 165° 9/ esan e 1165° et Set DeLef

DO’ Oyol.
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A | Do& S 1| 08558
B | eodrd denes o eescyead
C | HS pFad | erdyof
D | 226 265 v | DD
Options :

1. # A, B-iv, C-ii, D-iii
A-i, B-iv, C-ii, D-iii
2. ® A-iv, B-i, Ciii, D-ii
A-iv, B-i, C-iii, D-ii
3. ® A-iii, B-i, C-ii, D-iv
A-iii, B-i, C-ii, D-iv
4. ¥ A-iv, B-i, C-ii, D-iii

A-iv, B-i, C-ii, D-iii

Question Number : 10 Question Id : 630680169614 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are correct about the chemical process in baking a cake?

A. Baking soda is used to chemically leaven doughs and batters when it is mixed with an acid.
B. Cream of Tarter is one of the powdery acids used in baking powder to help leaven products.
C. Baking powder makes cakes rise by releasing carbon dioxide gas.
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Options :
1. ® Only A and B
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2. % OnlyBandC

B 083w C Sr(ehad
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Question Number : 11 Question Id : 630680169615 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Match the Name of Scientists in List I to their fields of expertise Subject in List II.

List I (Scientist) List IT
(Subject)
A | Pier Antonio Micheli i Plant
physiology
B [ George Cuvier ii Pathology
C | Rudolf Virchow iii Palaeontology
D [ Stephen Hales iv Mycology
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Options :

1. ® A-iii, B-iv, C-ii, D-i
A-iii, B-iv, C-ii, D-i
2. ¥ A-iv, B-iii, C-ii, D-i
A-iv, B-iii, C-ii, D-i
3. % A-iv, B-iii, C-i, D-ii
A-iv, B-iii, C-i, D-ii
4. ® A-ii, B-iii, C-iv, D-i

A-ii, B-iii, C-iv, D-i

Question Number : 12 Question Id : 630680169616 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33



Match the Hill Stations in List I and Indian States in List II.

List I (Hill Station) List IT (State)
A | Munnar i | Uttarakhand
B | Kodaikanal ii | Kerala
C | Champawat iii | West Bengal
D | Kurseong iv | Tamil Nadu

e 16°D 2765 DO 08030 erder [1S°D er6doD Trgrosd DBTvyod.

A 1 (S AS) W% 1 (07 3)0)
Aoy ® I | &oopod
B |s@sard ii | S0
C | SoFHes i | H3)S BorS
D | 5uH 33roh iv_ | SFTdh
Options :

1. # A-i, B-iv, C-ii, D-iii
A-i, B-iv, C-ii, D-iii
2. ® A-iv, B-ii, C-i, D-iii
A-iv, B-ii, C-i, D-iii
3. # A-ii, B-iv, C-iii, D-i
A-ii, B-iv, C-iii, D-i
4. ¥ A-ii, B-iv, C-i, D-iii

A-ii, B-iv, C-i, D-iii

Question Number : 13 Question Id : 630680169617 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which one of the statement/statements is/are CORRECT related to POSHAN (Prime Minister’s Overarching Scheme for Holistic Nutrition)?

1. The Ministry of Women and Child Development celebrated the 5th Rashtriya Poshan Maah 2022 from 1 to 30 September 2022.

2.The objective was to celebrate Poshan Maah through Gram Panchayats as Poshan Panchayats.

3. Land will also be identified for establishment of pre-schools for young children in the panchayat.

4.All pregnant and lactating women, children below six years, and adolescent girls to receive basic Integrated Child Development services.
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2HIN0A.

2. [T HOTTONBO T3 ST° AL DOTTONBENTT FAE S5 YT ©F $O.
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Options :
1. ¥ Only 1,2 and 4

1,2 00050 4 S (ehad
2. % Only 1,3 and 4

1,3 00050 4 S (ehad
3. % Only1,2and3



1,2 0005 3 X°|ehad
4. # Only2and4
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Question Number : 14 Question Id : 630680169618 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The following item consist of two Statements: one labelled as the ‘Assertion (A)’ and the other as ‘Reason (R)’. You are to examine these two
statements carefully and select the answers to these items using the codes given below:

(A): Global warming is a gradual increase in the average temperature of the earth’s lower atmosphere as a result of the increase in greenhouse
gases since the Industrial Revolution.

(R): During the past century, the atmospheric temperature has risen and fallen alternately by 1.1°F (0.6°C) and sea level has risen several
inches.

&3 (808 @030 BO (DELIS DN GOLNOR: 25T ' (A)' HOAW HTFETAE 'S0 (R) @ 0D

R 50500, K S8 BOL (DEEISOK 2 (ST DBIOD0D, BN VS 523 FROD GNTrAOD & 0T eH
BNV AV SNV TO IRV PO

(A): 205 38200 9 FB|FNE DNH0 D0EA (AS 570 T050)ed DEHSES HOSOMT Z5raym BHdS 35880
SIS0 TINEY DFEN G |0 DAHSE.

R): Kieh 3RO, @S5G GaF9e5 1.1°F (0.6°C)8 ENST S$PHST G0E sDBA5N DM &0 9FE e90He=en
8A0K.

Options :

1. * Both A and R are individually true and R is the correct explanation of A

A 08050 R BOKT 2.572.82.83m OB 08050 R 9T A B3, 0B Dedded
2. # Both A and R are individually true but R is NOT the correct explanation of A

A 308350 R BOKT 2,53.8283m OBSD 570 R 93 A BB0EY DB DedBea 5°¢
3. ¥ A is true but R is false

A 2D) SRR 63))
4. #® A is false but R is true

A 6)) ©@0NS R 2,))

Question Number : 15 Question Id : 630680169619 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which one of the statement/statements is/are CORRECT related to various rivers of India?

1.The Mahanadi, the Krishna, the Kaveri and the Godavari form deltas before entering into the Bay of Bengal.

2.The rivers Ravi, the Beas and the Sutlej are tributaries of the Jhelum.

3. The tributaries of Ganga flowing through Himachal and Uttarakhand Himalayas region include the Yamuna and the Ghaghara.
4. Brahmaputra flows through a deep gorge after crossing Namcha Barwa.

2rESTFOSD DD SEHOZ DOOBOD) (B0 (HEES NDELSE DDA DE?

1. 0TI, EJaT, 536 0O FTredd 220Tergres 0638 [HB0T S0 DTN (BE) @D & IS ow.

2. 8, DASFR DO A Scvew 20 BNEY eodScvew.

3. 2SS SDOAEN GBT P0G FSTOOSTE (FPOHO KI0CE (DF0TS KoM TBNEY GISCDEE” ONXNT® HETN DRT
GO 0W.

4. 0TS DT°F T3S ST (25T S'BS STTH MO (DT N0,

Options :

1. # Only 1,2 and 3

1,2 08050 3 S |ehad
2.¥ Only 1,3 and 4

1,3 008 4 S5
3. % Only1,2and 4

1,2 00050 4 S5



4. % Only2,3and4

2,3 08050 4 S°|eHa

Question Number : 16 Question Id : 630680169620 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The following item consist of two Statements: one labelled as the ‘Assertion (A)’ and the other as ‘Reason (R)’. You are to examine these two
statements

carefully and select the answers to these items using the codes given below:

(A): The Himalayan rivers are fed both by melting of snow and precipitation, so rivers of this system are perennial.

(R): River Kosi, also known as the ‘sorrow of Bihar’, is notorious for frequently changing its course due to sedimentation.

&2 (808 @050 DO |DFEIS EOA GoLNOA): 2878 'S (A)' OO HTEE S 52890 (R) 9 D

25 520500, K s BO (DEEISOK 2B DBIO0D, BN BB FEOD GNTBrAOD & 0T H
DT DOTNE T

(A): TPITO SE0EN 0T EHR0 AN 93750 BOROE3 &3 §T° ABOBEOMT (eI AT 5HOEFON, 5720¢3 S 8959
BN e 2Bddcvew.

(R): 'D5FE DTN’ €0 HTT DENSDT §R) I8, €9:93.969 SPBEIOMT BTN €55 SFTR), S0 Y830
ROTOD0A.

Options :

1. * Both A and R are individually true and R is the correct explanation of A

A DB R BOK 2,578,835 OB S08A50 R @9 A AB3EY DB Ddden
2. ¥ Both A and R are individually true but R is NOT the correct explanation of A

A 308380 R BOKT 2,53.82¢3m OBSS 5°Q R 93 A G3EY OB DedBea 5°¢
3. % Ais true but R is false

A 2D) SR D)
4. ® A is false but R is true

A ) ©ONS R 2:5))

Question Number : 17 Question Id : 630680169621 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
As proposed by India, the United Nations General Assembly (UNGA) has declared 2023 as the ‘International Year of i

2T SESTHO |DDTAODSENT, 0ET2BLONS BSSS e508) (UNGA) 2023 ¢ 0STBOD D03 S0’ T
D8¢E30Q0A.
Options :

1. # Cotton
DS

2. #® Milk
IO

3. ¥ Millets

QAT

4. ® Tea

SO

Question Number : 18 Question Id : 630680169622 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
ranked first on the 19th annual list of Forbes ‘World’s 100 Most Powerful Women’ of 2022.
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Options :
1. # Kathy Warden

56 S
2. # Shari Redstone

78 DAY

3. #® Thasunda Brown Duckett

OO (257N B3

4. ¥ Ursula von der Leyen

&) TR BO BTDH

Question Number : 19 Question Id : 630680169623 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (.33
Time magazine named the President of as its 2022 ‘Person of the Year’, in December 2022.

B SrSHRS &006 20228 9¢9SB0A 2022 “DBIS & O AOHE’ ™ DELE.
Options :
1. *® France

@°
2. # Ttaly

280
3. ® Mexico

088
4. ¢ Ukraine

= E{eWIN]

Question Number : 20 Question Id : 630680169624 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
The 108t Indian Science Congress was held in in January 2023.

230958 202365 10855 ROABANS VL) SPOIR D0 &' 28008.
Options :
1. * Imphal

QOO
2. #® Jalandhar

230080
3. ¥ Nagpur

~o°0ey°0

4. # Bengaluru

2300¢0°%

Question Number : 21 Question Id : 630680169625 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
Broadly speaking, the ‘e-SCR’ portal launched in India in January 2023 is related to



QPO B )O0B), 2rESTIOS” 238558 202365 |B08030ES ‘e-SCR” HES 8 HoODOKOVIA.
Options :
1. * engineering

202308080

2. ® medicine

DEIS
3. ¥ law

& (law)
4. % agriculture

DI ONO

Question Number : 22 Question Id : 630680169626 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In September 2022, India exported its first consignment of plant-based meat products under Vegan food category, from in Gujarat to
California in the United States of America (USA).

VR0DE 202265, 2rSESTI0 S HE TEAE B80S B0 S50 SFON0 Ged Jeed> TINEY Ve BT HBZD
HBTSS 0B ANTBE V) e 9O’ (USA) S*OFE) 0550 Dieded T0A.

Options :
1. #® Porbandar

O 20856

2. # Jamnagar

2P0
3. ® Morbi

J°8)
4, ¥ Nadiad

NTaloa)

Question Number : 23 Question Id : 630680169627 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Digital Health Incentive Scheme launched by NHA (National Health Authority) in December 2022, to support all healthcare facilities to
adopt ABDM (Ayushman Bharat Digital Mission), came into effect from :

ABDM (8050RS 23S $2360S NAS) D D £58009c8 0 es8is H03E £ DETsr50 PSS G026 20228
NHA (SA3S 27 e9678¢3) (380D0DS GBLS 2O RT)03S Dy 0B 29DENSE SDOA.

Options :
1. ¥ 1 January 2023

1 23358 2023
2. #® 26 January 2023

26 23998 2023
3. ® 1 March 2023

1 3582023
4. ® 1 April 2023

1 QDS 2023



Question Number : 24 Question Id : 630680169628 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In August 2022, scientists from the Jawaharlal Nehru Centre for Advanced Scientific Research (JINCASR), Bangalore, and the Institut Pasteur,
Paris, identified a gene called in Candida albicans, a fungal species known for causing high rates of morbidity and mortality under
certain immuno-compromised conditions such as AIDS or during cancer treatment.

BoHFTHESQ BITErS JeT VOE HE @SB VO3S EE) (INCASR), SHBA5N ASNEXT$ES 373 35, ir’éafo
0B T RAIBen oA ©9O)5S ) O 230590 180TS, B AIDS $50¢3 A5 BEITNES-0°28H

HBVHOS B 55535 N8B SN0 ©BE eoaEiis0 SO SSETOH TSeaahs 300\ 278..
Options :
1. ® CSA8

CSAS
2. ® CSA2

CSA2
3. ® CSA4

CSA4
4. ¥ CSA6

CSA6

Question Number : 25 Question Id : 630680169629 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
What is the theme for National Science Day 2023?

2 ROH DS T 2023 TNE) B> AWeEI?
Options :
1. ¥ Global Science for Global Wellbeing

TS D) DB TS IS Dowoh
2. # Integrated Approach in S&T for Sustainable Future

QOEFBE (S BN S&T DB SRS J°550
3. #® Future of STI: Impact on Education Skills and Work

598 €99 dVD: BOYE S DFEAS 5,5 @08 36

4. # Radiation and Radioisotopes in Healthcare

BATDAS ©0& BABrOFE'D) AS 2930

Question Number : 26 Question Id : 630680169630 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In which of the following cities is ‘Dr. Syama Prasad Mookerjee National Institute of Water and Sanitation (SPM-NIWAS)’ located?

&3 1808 73S’ Q SHOPS' T, 2530 DG S0P FASS BSVEIT$ES 3D T8 @& TIDAS (SPM-NIWAS)' &508?
Options :

1. ® Howrah

To°

2. ® Siliguri

OB

3. ¥ Kolkata

gSsee
4. # Malda



e

Question Number : 27 Question Id : 630680169631 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In September 2022, the Union Cabinet announced an extension of the Pradhan Mantri Garib Kalyan Ann Yojana (PMGKAY) by
month(s) from its stipulated deadline of 30 September 2022.

2023 202265, OIS S00(BSBO0 (DGTS 0\ K825 Ew=sed @) T3S (PMGKAY)Q 30 DR0DD 2022 K0y 0o
SO(ED) SBEL FPARANS)EY (DEE30D0A.
Options :

1. ® one

8
2. ¥ three

SFCR
3. #® six
e

4. ® twelve

N0

Question Number : 28 Question Id : 630680169632 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The ‘Scientific Social Responsibility (SSR) Guidelines’ were released by the on 11 May 2022.
0 11,2022, B RADH X3 23565 (SSR) STBES J5een! TP S0° DS TOHDFOW.
Options :

1. ¥ Ministry of Science and Technology

) @08 BS) 028 O(edh § TP
2. # Ministry of Health and Family Welfare

e85 OAN Eoen02) NDOT e 00(Edeh § 3o
3. # Ministry of Rural Development

UTPaDETDSYE 00(edeh § 3o

4. ® Ministry of Social Justice and Empowerment

DPe37°23E T°FON0 DO QTGS O(e365 ¢ TP

Question Number : 29 Question Id : 630680169633 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
The Energy Conservation (Amendment) Bill was passed by the Indian Parliament in

DS EXBIAS (D35€9) DEVS 2GS FID00EN S’ SBTrEODOA.
Options :
1. *® January 2023

258 2023
2. ¥ December 2022

&020 2022
3. # November 2022



55025 2022
4. ® QOctober 2022

205 2022

Question Number : 30 Question Id : 630680169634 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

The online portal , developed by the National Commission for Protection of Child Rights (NCPCR) in 2015 for redressal of
grievances against violation of child rights, was updated in September 2022.

DO TELO GDONS SIS DTN HBFLB0 §0 201565° 200 2P TEL HBSE.69 ENAS (NCPCR )

o 50° ©DH9D BoHDAS 8SBS FES VR0 202265 SNEBOHIDEOL.
Options :
1. # E-BaalAashray

E-BaalAashray
2. ¥ E-BaalNidan

E-BaalNidan
3. # E-BaalKalyan

E-BaalKalyan
4. # E-BaalUpchar

E-BaalUpchar

Question Number : 31 Question Id : 630680169635 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following Indian states won the UN World Habitat Award 2023, for its land titling and slum upgrading programme aimed at
empowering lives of slum dwellers?

S8 %a"?oé)@ BB OB EOI0T ©F 508 ers0&% T3S SHOOIM A DT | §00, |18od
¢3S & 23BN TR0 UN S8 SFFDEFES @07 2023 RentHEood?

Options :
1. * Manipur

e3y°0
2. # Nagaland

NS eT)
3. #® Sikkim
80

4. ¥ Qdisha

2,&ar

Question Number : 32 Question Id : 630680169636 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

The Integrated Pensioners’ Portal, , was launched at Vigyan Bhawan New Delhi on 18 October 2022.
R0HBE DISE) FES, , 18 @525 20228 SrsBOS' DTS FISES' (DE0D0SDE0A.
Options :

1. * Bhavishya 6.0 version

208 6.0 IS

2. # Bhavishya 2.0 version



BAN$2.0 IS
3. ¥ Bhavishya 9.0 version

205 9.0 IS
4. % Bhavishya 3.0 version

BN 3.0 I8

Question Number : 33 Question Id : 630680169637 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

In September 2022, India announced its first indigenously developed quadrivalent Human Papilloma Virus (qHPV) vaccine for the prevention
of

0205 20226, 2rSSTF0 TIOHOM ©DSYE TS FNCSES Y BTB0ES TS FDSHT FEN (qHPV)
8800 QrSea TGEL (D8E300V0H.

Options :

1. # whooping cough

8’8065 P

2. ¥ cervical cancer

ORIV VRG]
3. # diphtheria

BB

4. ® influenza

Q)02 (AAVNGF0)

Question Number : 34 Question Id : 630680169638 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The vaccine from Bharat Biotech International Limited is the world’s first intranasal vaccine for COVID, to receive approval for the
primary 2-dose schedule, and as a heterologous booster dose.

23S 2B ROLTLANS ONBE Do 58S OTE COVID §0 (HI0TI0S’ Sn&Dncses
RQOETFR IS (TVF° S0 SOET) 58S, B | 2008 2-8R BPSSE BN TTBEErHR 227700 SR
&30 FOHOA.

Options :

1. ® AKS-452

AKS-452
2. ¥ iNCOVACC

iNCOVACC
3. ® Corbevax

Corbevax
4. # HGCO19

HGCO19

Question Number : 35 Question Id : 630680169639 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The indigenously developed AUM Photonic system is used for real-time remote monitoring of



TIOHOM @ESYE TANDEAS AUM T 55390 TB0EY s703-000% BREd HB53%.6 800
€500V COS0A.

Options :

1. * traffic violations

(EPDE &0
2. ¥ air quality

TS Jreaged

3. * noise pollution

Q8 NN S0
4. * land subsidence

IAVAVESMOTATO IR VSN N Y To)

Question Number : 36 Question Id : 630680169640 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

As per a collaborated report between RAISG and MapBiomas (a network of Brazilian nonprofits, universities and technology start-ups)
released in 2022, the Amazon region has lost of its native vegetation, mostly tropical rainforest, in almost four decades.

202265° DSBS RAISG 08050 MapBiomas (23220 00S e 8 B HoRew, DF A5 aAiren SO Arosedde J-o-
@D JEONDY) DB TS AREE (D580, ST et eSS 9025 (P00 ¥
598,008, DV GRDOBO ST BT §SHON0d.

Options :

1. % 25%

25%
2. % 40%

40%
3. % 20%

20%
4. v 10%

10%

Question Number : 37 Question Id : 630680169641 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

is an indigenously developed technology system in India that digitises vaccine stocks and monitors the temperature of the cold
chain through a smartphone application.

2rESTFOS’ BFOHOMT @8N9E TOHDAD F0TBE 5559 , A8 &S5 FFO ABLBE TWOA SHOAKD
0FS NEAS 3 50° S BS BwEy SIS DE5SEN0S.

Options :

1. ¥ eVIN

eVIN

2. # V-Guardian

V- rQAO(V-Guardian)
3. # V Band

V-23°50& ( V Band)
4. # V-Guard

V-8 (V-Guard)



Question Number : 38 Question Id : 630680169642 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
With respect to digestion in the human body, what are mucous, chief and parietal cells?

S35 38506S" EBBAHB H00A0D, B0, (DG SHBAKD DOTHES Seren DNe3?
Options :
1. ¥ Major types of cells in gastric glands

2GS KOS (DTS B5°0 Segen

2. #* Types of intestinal mucosal goblet cells

DD 3D FBE Sered Sseen

3. # Major types of cells in pancreas

TS (DTS B5°e> Seen

4. *® Major cells in lobes of liver

SBAHNOS'D S (DS eTren

Question Number : 39 Question Id : 630680169643 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Plants in which the ovules are not enclosed by any ovary wall and remain exposed, both before and after fertilisation, are called

DOAEBEETIE SN0 BN SB0Teh OOTTEN &) OTTFAD S EDIBBH0E DS GOT INEFSN

0Lr .
Options :

1. # Angiosperms

35985 ez Dogyen

2. ¥ Gymnosperms

DSYeh ez Doy en
3. # Pteridophytes

BOEDE)
4. ® Bryophytes

B

Question Number : 40 Question Id : 630680169644 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
To which of the following trophic levels do phytoplankton in oceans, bacteria living in active volcanoes and seaweeds belong?

LTFIIVETOSD DETT0ES, 18R @A) DS ST HBAN DN FAS” DSOS e s§OSTen |08 1%
Fone S BIE ToHIJ?

Options :

1. ¢ First Trophic Level

RGN SFAE Yow
2. # Second Trophic Level

BLBOH A Fow
3. # Third Trophic Level

$9B0% AFANE Fow
4. # Fourth Trophic Level



L3e50Q FAE Praw

Question Number : 41 Question Id : 630680169645 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following are mitigation strategies for disasters that can occur due to Landslides?
A-Adopting area-specific measures to deal with landslides.

B-limiting agriculture to valleys and areas with moderate slopes

C-Promoting large-scale afforestation programmes and construction of bunds to reduce the flow of water.

8055800 DOADCEEI0 SO HOVOT JHEAE §H0 0B 57¢36S” GBS SJ55TFen ID?

A- FOSI80HEN IBANGETRY, V0T S8 (3P0e5-AOR IS5 @500 0TIG0.

B- S35 a5, €S°00EN B0 ST TeN [ZFoTOR DB TOHEO

C- Q3 (D), $H0IERE DY S €989 NONEO0 5°G 58377 O &) QTETR), |85 Yar0do.
Options :

1. %# Only A and C

A DBASW C S°(¢had
2. % Only A and B

A B0 B S5°(¢hadd
3. % OnlyBand C

B 08050 C S5
4. v A,Band C

A, B 8™ C

Question Number : 42 Question Id : 630680169646 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following organisations publishes the ‘Vulnerability Atlas of India’, a tool for natural disaster prevention, preparedness and
mitigation for housing and related infrastructure?

TTR00 08050 D00 SFOE DO §H0 D23 VN AT B, DOV SOAN ErIFeS IS
‘51 80O rD &9 VORI 808 ¢3S & HOR (HNE0DOE?

Options :

1. *® Central Relief Management Agency

0OS 80D TLF 0 DB)

2. ® Earthquake Risk Evaluation Centre

BrE0D (DS rersods oo

3. ¥ Building Materials and Technology Promotion Council

DO0R 380D ) HBAKN B @2 |DRTAQ TS

4. ® Climate Monitoring and Prediction Group

T3065 SAEB0R S8 (DEES (HrD

Question Number : 43 Question Id : 630680169647 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The following statements correctly describe which of the methods of landslide monitoring?

I.Capable of temporal monitoring of slope deformation

I1.Requires repetitive measurement of same location on landslide mass to determine rate of movement

III.Can be carried out at initial stage of deformation or at vulnerable slopes without any visible sign of failure

IV.Suitable for long term monitoring without building any instrument network at any site of interest

1808 (DEEISN D ers0HVE STVEB0R DR SO DSdJaw?
L e FEer)Q) e OFOMr DEHE.0E P50 EOA &50er0



I $5OE B AGoNORERE FoI8ANE (HN5T°F R ©T F'rr) DB DB T T°I0

111 38e>)0 TBEY (B035 S¥eeS FHer50 TBwE) HoTeEren B B DOFrSTON TS’ A §r0ISTN)

IV, (DTBPBS0 &), & DE ST Jer0ed S WR0E FE5630 DB09500m APOE DS5HE 50 eddreorr
GOLNOO

Options :

1. # Slope Deformation Monitoring Using Dynamic Modelling

BINE I O0h GITTA0D FD A BINN SreIO0N
2. ¥ Slope Deformation Monitoring Using GNSS

GNSS &D°A0D D ATTAS SrQed80h

3. # Slope Deformation Monitoring Using Terrestrial Laser Scanner

BB QONS B235 0 GOBVFAOD) R AT BIAS S8 0h
4. # Slope Deformation Monitoring Using DInSAR

DINSAR &033PA00) &0 A0S SrRe)doh

Question Number : 44 Question Id : 630680169648 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Fire hotspots detected by MODIS and SNPP-VIIRS sensors are received at which of the following Earth stations in India?

MODIS 58050 SNPP-VIIRS 7356 & $0° $HB0t923BS 36 TS )5 en o3B30 (808 & 8 WASS
5580 oN?

Options :

1. #* Delhi Earth Station

GO 8 VS
2. ® Ahmedabad Earth station

03570728 D8 VAS
3. ¥ Shadnagar Earth Station

LESHEE DB VAS
4. * Balanagar Earth Station

2rerSH0 D8 VAS

Question Number : 45 Question Id : 630680169649 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

According to the Compendium of Task Force Sub Group Reports on National Landslide Risk Management Strategy published by National
Disaster Management Authority in 2019, if the rock falls from natural cliffs or rock cut slope (number/annum/km) of an area is between 0.1
and 1.0, then the area lies on which of the following landslide frequency zones?

JASS &erRB DT 0ES ©9670¢3 (HHBODS 2BADH er0HVE By IS DOE (FLE D erRy 6 I HIre
QAIOED H0EDOR0 (D5°80, 0.1 HBGIN 1.0 0§ €), (BP0H0 TNEY DTe3 FPTE DO B3 T°§ €S e (Nopy/
5055 180/80) HOG T"0m HBFS, @I & [0S0 808 ¢35 O erS0HVE (DB F'XS’ &0ENOE?

Options :
1. # Very high

SIS
2. % High

@5HE
3. ¥ Moderate

& QD



4. ® Very low

e¢h§e)

Question Number : 46 Question Id : 630680169650 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is of great help in monitoring the movement of tectonic plates?

BEVE D E5ODEX DB5S8 03¢0 BoB 37¢36S° D& FHIT DJFO0DCRS0E?
Options :
1. ¥ Geographical Positioning System

BABTTRESD FBAJ0N VRO

2. #® Geographic information systems

BBFTDE BRIBINAS VYO
3. # WSR-88D radars

WSR-88D O°ca*&
4. # GIDMaPS data

GIDMaPS B3¢y

Question Number : 47 Question Id : 630680169651 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

Very Long Baseline Interferometry (VLBI), Satellite Laser Ranging (SLR) and the Global Positioning System (GPS) are most commonly used
space-based techniques for monitoring which of the following?

A- Mapping of flood inundations

B- Near real time depiction of cyclone track

C- Movement of tectonic plates

38 erof BIBS R0LEDE S (VLBI), 7¢3S¢5 S236 B0B0R (SLR) OO0 S 728000 DR (GPS)en
B0 GABTAOT 05O -850 FOTIEHeN, He3 80O ¢3S’ B ITAELO0R TOHETR SIOBrANE?
A- D8 S00Y@ST§N0N

B- 2ES 656 Gy D2 HIAH S8 HHOS'

C- B D 53O

Options :

1. #® Only A

L ER
2. # Only A and B

A 8050 B 3575
3.v Only C

C S5
4. % OnlyBand C

B 308050 C Sr(esD

Question Number : 48 Question Id : 630680169652 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Where was the first seismological observatory of the country established in December 18987

B0203) 189865 TF0S” Bcded DFer8ES 0B 8 D8y FD0IDE0E?
Options :
1. ¥ Calcutta (Kolkata)



o (FSse)
2. # Madras (Chennai)

QTN (BIZ))
3. # Bombay (Mumbai)

S02P0N (AN0ZI)
4. % Mysore (Mysuru)

0B (DA

Question Number : 49 Question Id : 630680169653 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is the nodal agency of the Government of India for monitoring earthquake activity and conduct seismological research
in the country?

B0 ¢3S’ D 238 925065 § SUHS DB BF0ES’ 550D 528 5EeTTD DESIE N0 SHOAK 5E0D 7N
DBTCI8 DB 52 NOE?

Options :

1. ¥ National Centre for Seismology

JAS DO HB D E
2. # National Seismic Telemetry Network

SASS 2225 BORES S50y

3. # National Seismological Database Centre

FANS DFerBES TBerz3n ord

4. ® National Seismological Network

BASS D erBES JIEN0),

Question Number : 50 Question Id : 630680169654 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
DROP, COVER and HOLD' are the most effective ways to save yourself in case of which of the following disasters?

808 3¢3¢5° & DIBEN HODODEN I WO, N0 B8 OTHEITAE (G, 55 HOAN WS DD e9eh50¢h
(02779905 N S3F°eN?

Options :

1. ¥ Earthquakes

SrZoTren

2. #® Cyclones

AT N
3. ® Landslide

08380 V8RN0
4. # Flash floods

@388 S8cen

Question Number : 51 Question Id : 630680169655 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per information given by the Minister of Earth Sciences, Dr. Jitendra Singh, in Lok Sabha in July 2021 and in December 2022, what is the
approximate percentage of India’s land mass susceptible to seismic hazard?



I8 DTN HOBSBSBS cT§0 BB VOB, 27 2021 SHOAN F0E 202265 S°EHSS’ @0B0DD HDSFeTS0
15750, 27865 25arH0eS” 03rS DO F°e50 Z5E0) (DSPErRS HBTRS SSF0 HoO?

Options :
1. # 40%

40%
2. % 49%

49%
3. % 50%

50%
4. v 59%

59%

Question Number : 52 Question Id : 630680169656 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In India, out of the total geographical area of 329 million hectares (mha), more than mbha is flood prone.

2rESTF0S’, 329 WOTHS T (mha) IS0 2T HOE HFOES, mha 0T DBV (0S50 SBROEL
NBYHHOH.

Options :

1. %25

25
2. %30

30
3. % 35

35
4.v 40

40

Question Number : 53 Question Id : 630680169657 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
From 60 in 2019-20, India’s overall score improved to in NITI Aayog SDG India Index and Dashboard 2020-21.

2019-2065° 60 008, A& esTBrh SDG ROAOST ROTWE ) O GsNSY 202021 23S STF0 TNEY IS0 )6
& DBENOIDGOA.

Options :
1. # 63

63
2. % 64

64
3. % 65

65
4. ¥ 66

66

Question Number : 54 Question Id : 630680169658 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.33
As per the SDG India Index 2020-2021, which of the following two goals demand special attention, as the overall country score is below 50?

SDg %o&oﬁr RO 2020-2021 [HSE0, I0BO TF )50 50 L0 803 €530, B80S O Dot OF IO DSE 3R
NB0?

Options :
1. # Goal 1: No Poverty and Goal 2: Zero Hunger

@& 50 1: D8 QBTN BN & 50 2: &8O TODSONEIO
2. # Goal 1: No Poverty and Goal 4: Quality Education

©&.50 1: 88 QB2 HBAN @5 50 4: TS DS
3. ¥ Goal 2: Zero Hunger and Goal 5: Gender Equality

%50 2: 8ZO TOJIONEI0 HOASM @& 50 5: Do DTS 50
4. #® Goal 9: Industry, Innovation and Infrastructure and Goal 8: Decent Work and Economic Growth

0850 9: DOF, NedEE )N NBAKN oT'OE HCHOTTEN DO ©F 5O 8: DO DA HBASW e88E S9&

Question Number : 55 Question Id : 630680169659 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per the Economic Survey of India 2021-2022, forests covered 24 per cent of India’s total geographical area accounting for per
cent of the world’s total forest area in 2020.

a§v§£ ééé@‘%ao&m 2021%022 Blsjete) wggaséo TBog), BNB0 2TTHOE DGO’ 24 TS0 5N G) 0N, D
o -

20205 |90 Q IS0 @D (0 NGO SO GO,
Options :

1. %1

2.¥2

2

3.%3

3

4.% 4

4

Question Number : 56 Question Id : 630680169660 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Activities undertaken as part of the Namami Gange Mission rest upon ‘four pillars’. Which of the following options are included in these ‘four
pillars’?

A. Nirmal Ganga

B. Aviral Flow

C.Swatch Ganga

SST K0T MASE’ 2HOM THEI B SEETTEN 'TENH Q0T SEFEIE GOLTow. & 'renid NogresS” 808
DODEDS’ DD TS YOG ON?

A. QES Kol

B. @256 &F (A808S HTE0)

C. O 8Q) Kod

Options :

1. ¥ Only A and B

A 0B05W B S7(¢ba
2. # Only Band C



B 08050 C S5
3. # Only A and C

A B3O C S°(had
4. % A/BandC

A, B 083w C

Question Number : 57 Question Id : 630680169661 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In August 2022, the United States National Aeronautics and Space Administration (NASA) highlighted the loss of mangrove cover on which
of the following islands, which is a part of India’s Nicobar archipelago?

305 202265, BNTBE W) SASS B ¢35 @908 VIV G VA (NASA) 278SEF0S ' J8%2r6
B 500’ 23S 808 D AIYS ¢ 990 FSHoN0S |HBsE0rT BOD0H?

Options :

1. # Car Nicobar

55 D825
2. ¥ Katchal Island

&3S Hsdo
3. # Camorta Island

E3g° B0
4. # Chowra Island

Fo° B$H0

Question Number : 58 Question Id : 630680169662 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following awards of the Bureau of Energy Efficiency (BEE), Ministry of Power, were announced for the first time during
ANGAN 20227

DS 0| Beh § TP 227758 D DS IDATHD) (BEE) (80O 73S’ & e9Ber% @006 202265 Bncde3 o
(030 B?

Options :

1. ¥ National Energy Efficiency Roadmap for Movement towards Affordable and Natural Habitat Awards

DEBZS BN JT2 BT TP B G500 §FI0 FASS I3 ADATHAY BEST 5D

2. # The Special Meritorious Awards for Engineering Innovation

R0BAO0N VS FAS FR0 (DB5E DOE e8678¢% arden
3. ® Electric Sustainability Impact Awards

J(§5 SRIDOES RO wardden
4. *® The Spotlight on New Technology Small Business Awards

g 5P 028 O DRBITV @RI YO BE

Question Number : 59 Question Id : 630680169663 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

implies that the resource extraction is NOT above the rate of regeneration of the resource and the wastes generated are within the
assimilating capacity of the environment.

5550 OB 938D TBNEY Y5051 B E0TD DY B SDBAEN 55 ) TONDAS S55T°EN DT §SBEI0
TB0EY DESE L0 HOAS’ &0EFOH PUTATSVOTR



Options :
1. ¥ Carrying capacity

P ETTE PY 50
2. *® Biotic potential

233¢38 BN

3. # Environmental capacity

DO§e3589 P50
4. ® Absorptive capacity

FAE P50

Question Number : 60 Question Id : 630680169664 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
Which of the following statements about the Nokrek Biosphere Reserve are true?

A. The Nokrek Biosphere Reserve is located in the northeast of India on the Tura Range, Meghalaya.
B.UNESCO added the Nokrek National park to its list of Biosphere Reserves in May 2009.
C.Nokrek is the highest peak of the Garo Hills, rising up 1,412 metres.

SE5 3BrR)0HE 8285 § HOODS 808 (DESS DA J230?

A. S Z5 23rR)00E 8235 § eSS TTRE E33°Ss 270 SRTOONES’ Tr (363 God.
B. GS0BF, 3 200965 B8 BASS 53 233000 855 0 &dereS’ TOH0A.
C. S7E5 @O 8 SIS I8 IPE0, A 1,412 DES IHES G0,

Options :
1. ® Only A and B

A 083050 B 5575 add
2. % Only B and C

B S0835» C Sre(ehad
3. # Only A and C

A 258050 C S5
4. v A,Band C

A, B 80w C

Question Number : 61 Question Id : 630680169665 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which of the following rivers are tributaries of the Godavari river?

A. Pranhita
B.Indravati
C.Amaravati

1808 FES” DD FTH8 SO EDI0ENT &) 00?

A. [2reaared
B. Q0|T"ded
C. @0T3ed

Options :
1.¥ Aand B

A DHOON B
2. % Band C



B 083 C
3. % Aand C

A HBAW C
4. % A BandC

A, B 8a%w C

Question Number : 62 Question Id : 630680169666 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following lakes is situated between the deltas of the Godavari and Krishna rivers?

808 e3¢5 & DB F eS8 S0BAKW E9aF SN TEFe NS &0H?
Options :

1. ® Pulicat Lake

DO SBNY

2. ® Wular Lake

oJ*0 HBNY
3. ® Vembanad Lake

RoDTE ABNY
4. ¥ Kolleru lake

FSE B0

Question Number : 63 Question Id : 630680169667 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following lakes is located in the Indian state of Mizoram?

808 ¢3S° O DB 2rBSTF0S ' W&’ oro T (oS’ &od?
Options :
1. ¥ Loktak Lake

SESE DB
2. # Haflong Lake

YR B0
3. ¢ Tam Dil Lake

) A JBDY
4. ® Osudu Lake

200 ABY

Question Number : 64 Question Id : 630680169668 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following passes, located at an altitude of 19,300 ft., became the highest motorable road in the world in November 2021?

806 ¢35’ 19,300 @O RS’ &) RO’ A $5028 202165 (HHOOS'S 506 DB Jrered SO
r80&?

Options :
1. ® Khardung La Pass

DO e R



2. ¥ Umling La Pass

€&ON ° R
3. ® Dungri La Pass

¢olh e PR
4. ® Marsimik La Pass

P8 JE e R

Question Number : 65 Question Id : 630680169669 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Narmada, Son (Sone) and Johila rivers originate from

B2, FS (FT) BTN SParer Seen Q0B &AYoToW.
Options :
1. ® Satpura Range

e )O° |33
2. ¥ Amarkantak Region

@©NO50eS ([rodo
3. % Badrinath

AT
4. ® Vindhya Range

dogrs (363

Question Number : 66 Question Id : 630680169670 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

Where is the Kumbhalgarh Hill located?

B0027S & 7O D8 SOO?
Options :
1. ¥ Rajasthan

OB

2. ® Punjab
Doard

3. ¥ Madhya Pradesh

30§ 1DTT
4. ® Uttar Pradesh

&SE |HDT

Question Number : 67 Question Id : 630680169671 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following islands contains mud volcanoes of the Indian sub-continent?

1808 TS’ Q BH0S’ 2B GHPOBOST ITE 03 @A) NS TN &r®) 007
Options :
1. ¥ Baratang Island



20°¢0f & Do

2. # Barren island

288 &0

3. # Havelock Island

rders & Do
4. ® North bay Island

0 B &0

Question Number : 68 Question Id : 630680169672 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Where is the Kaliasot Dam located?

SO @50 D8C6 OB?
Options :
1. # Jabalpur

220r)0
2. #® Udaipur

€C3a%0y°0
3. ¥ Bhopal

SrS
4. # Cochin

STARTS]

Question Number : 69 Question Id : 630680169673 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

What is the name of first Telugu library established in Hyderabad by Komarraju Lakshmana Rao?

TR T2 ©F2690°%9) FD0DS SO Senthd (FOFe0H0 DK JeE3?
Options :
1. ¥ Sri Krishnadevaraya Andhra Bhasha Nilayam

1B E9RBIT 0D 0[S arar A0

2. # Saraswata Niketanam

B 85 ABeHS0
3. # Sarasvati Mahal Andhra Bhasha Nilayam

DB 58 DTS 0[S 27T A0
4. # Sri Rajaraja Andhra Bhasha Nilayam

1B O"30723 80(& aFar AOOH0

Question Number : 70 Question Id : 630680169674 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
In which year was Chittoor constituted as a separate district of Andhra Pradesh?

DSEFE O H0SSIB06S’ 0[S (DTT S (NBSE BT DT TOE?
Options :
1. v 1911



1911
2. % 1882

1882
3. # 1858

1858
4. % 1800

1800

Question Number : 71 Question Id : 630680169675 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In which year did the Kadapa (formerly Cuddapah) district come into existence with its current geographical area?

Ee5 B 10N 23O (F0S0 Q H0X$ B0 GIESE HDJ0H?
Options :
1. % 1808

1808
2. ¥ 1911

1911
3. % 1858

1858
4. ® 1805

1805

Question Number : 72 Question Id : 630680169676 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
Which place in Andhra Pradesh was famous for carpets during the 19th century?

1985 380" 0| (DBTS'Q O (HBF0 BTDHOZ (HVQ ToHOE?
Options :

1. ¥ Eluru

e

2. # Kurnool

&y en

3. # Berhampur

2350:°0
4. #® Peddapuram

DTG0

Question Number : 73 Question Id : 630680169677 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
After coming to India, where did the Dutch establish their first factory in Andhra Pradesh?

BTG SDYNS S$BTe, 1S a3 80(E (DTTES” 65 BNIE3 ETPT R, D8y F°DOTSE?
Options :
1. * Nizapatnam



Q23080
2. ¥ Masulipatnam

DD 0
3. # Tenganapatnam

SOTPNE) 0
4. # Poppacamal

D )SNO

Question Number : 74 Question Id : 630680169678 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 WrOng Marks : 0.33

Machilipatnam of the Golconda Kingdom was famous for the trade of which precious material during the 1600s?

B, 008 T7e3s D8 TOAN SDDDNE 0 160006 & DENDS SN TS TVE 1DV ToA0E?
Options :
1. #® Silver

J0&
2. % Gold

20rmrdo
3. ¥ Diamonds

d2ren
4. # Platinum

e300

Question Number : 75 Question Id : 630680169679 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which Mughal emperor acquired the kingdom of Golconda in 1687?

168765 F7¢57,0¢8 07255, & NS HIESO D ENS0 DB 07
Options :
1. ¥ Muhammad Azam Shah

QANTaE 8230 ar
2. ¥ Aurangzeb

TEoHB
3. # Shah Jahan

L2
4. # Bahadur Shah I

2378070 ar 1

Question Number : 76 Question Id : 630680169680 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which year was the journal named as Vivekavardhini established by Kandukuri Veeresalingam?

5058 HBFO0K0 DFEIQ @I HBED D D0SBIE0’ FROTE?
Options :
1. % 1825



1825
2. ® 1885

1885
3. % 1848

1848
4. v 1874

1874

Question Number : 77 Question Id : 630680169681 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
In which year was the Krishna District Association formed to fight against the British rule on many social issues?

ORE FST28E DD (D3N FTSE) SsBBEOTT FTTOCNZD EJal 23T D00 &) D035 B0 DB YEIDB0E?
Options :
1. 1892

1892
2. ® 1898

1898
3. % 1865

1865
4. % 1845

1845

Question Number : 78 Question Id : 630680169682 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In which year did the British establish their factory in Nellore district of Andhra Pradesh?

&30(& (DTT S°Q TS B’ (D3R a3 950 5O & HD0S$ B0 FDOTTE?
Options :
1. * 1611

1611
2. % 1621

1621
3. ® 1615

1615
4. v 1626

1626

Question Number : 79 Question Id : 630680169683 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

Who among the following French governors was appointed as the viceroy of all the territory south of River Krishna by Muzaffar Jang after he
became the Nizam?

3502305 2300 D20 NS ST EJal SO B8 TS &55), INB0 rermAE B RPoDT & 1808 O O (DOS
563860 QADNDOTICR?

Options :



1. # Pierre Dulivier

DON OJHD

2. # Francois Martin

BroSonR S8
3. ¥ Joseph Dupleix
S 5

4. #® Bellanger

20005

Question Number : 80 Question Id : 630680169684 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Name the well-known social reformer from Andhra Pradesh who wrote the first novel in Telugu?

BHS O 350 T°1& 0 (HDTFEL TOAS DNV 505 H0XYE De3?
Options :
1. # Desiraju Peda Bapayya

B30 E 200N

2. ¥ Kandukuri Veeresalingam

E0c0¥rd DB¥O0K0
3. # Gurajada Venkata Apparao

0G23¢d F0EE @90 )T°)
4. *® Raghupathi Venkataratnam Naidu

BA0De3 FoEEISe5) 0 T O

Question Number : 81 Question Id : 630680169685 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

As per the Andhra Pradesh Reorganisation Act, 2014, Hyderabad, in the existing State of Andhra Pradesh, shall be the common capital of the
State of Telangana and the State of Andhra Pradesh up to maximum of

S0IINTT DS §33VEB 50, 2014 (HSB0, (HNS0 SO|BIDTT T QoS IrdTerd, K80 NN
SO TR0 HOAN e0(PDTT O°are> el T GoEd.

Options :

1. ¥ 10 years

10 Q0SS yore
2. # 5years

5 Q05 JoeN
3. # 15 years

15 0S8 yoren
4. #® 7 years

7 D0SeS TN

Question Number : 82 Question Id : 630680169686 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In which year was Janmabhoomi (a rural development programme) launched in Andhra Pradesh?



S0IQNTTS’ 232257 (PRI ©98)SYB SBED0) & D05 IEOS |FB0E05DG0E?
Options :
1. % 2005

2005
2. % 1999

1999
3. #1995

1995
4. v 1997

1997

Question Number : 83 Question Id : 630680169687 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which e-governance platform was aimed at the complete computerisation of the land registration process in Andhra Pradesh?

eS0TI’ 257 823 RAS (80D IO 05585800 GTAODS &e-f55B).S) DGO E?
Options :
1. # Spandana

0HYOAS

2. # Mee-Seva

Q0-0D
3. ¥ CARD

CARD
4. # OWMS

OWMS

Question Number : 84 Question Id : 630680169688 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The Andhra Pradesh Reorganisation Act of Parliament received the assent of the President on:

S0PNTT HESISVEBE 50 FTOENES” T RIS BFG0 2 I F0B0A:
Options :
1. 1 March 2014

1 38 2014
2. # 31 March 2014

31 858 2014
3. # 1 March 2013

1358 2013
4. ® 3] March 2013

31 S8 2013

Question Number : 85 Question Id : 630680169689 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Under the World Bank’s Andhra Pradesh Economic Restructuring Project, in how many educationally disadvantaged districts was the district
primary education to be reformed?



(DHOLS 275080 SO|BHTT B0E HXE §33VESE FBE (B0, DTEHSOMT SEDES ), BTS 8T [FHWE D50
o 80Tr®?

Options :

1. ® 12

12

2. % 16

16
3.v 14

14
4. %10

10

Question Number : 86 Question Id : 630680169690 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Under the Rs. 2 per kg rice scheme of Andhra Pradesh during the 1980s, how much rice was distributed per household?

1980065’ 30| BIDTTS’ &r. 2 85’ A0 DHF0 180, ROEIE Doed DK HODES TAHDEOE?
Options :
1. ® 35Lg

35 8&Sen
2. % 15kg
15 8S’en
3. % 30 kg

30 &Sen
4. 25kg

25 &8Sen

Question Number : 87 Question Id : 630680169691 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
What is the name of the e-governance initiative to provide one-stop public grievance redressal platform for the citizens of Andhra Pradesh?

38&%@85 DO DE-F° (D25 DTSN DOLLE JEOEN 90QONEE DT°YEN TONTDRS R-H3B) Q) 0
?

Options :
1. #® Prajavani

(Deared
2. # CPGRAMS

CPGRAMS
3. # Samvedna

03B
4. ¥ Spandana

0HOAS

Question Number : 88 Question Id : 630680169692 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.33
By which year will Andhra Pradesh’s new IT policy for 2021-24 be in force?

2021-248 H020E0DS S0(SINTF §S 0¢3 TR 2 H0Seh 50 e3s @33)@56 GOENO?
Options :
1. ¥ 31 March 2024

31 S8 2024
2. # 31 December 2024

31 30200 2024
3. % 3] July 2024

31 23S 2024
4. % 31 January 2024

31 239098 2024

Question Number : 89 Question Id : 630680169693 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
When did the Andhra Pradesh Municipalities Act come into effect?

S0INBT ST HEO )Y ©0ENESE SO YOE?
Options :
1. ¥ 2 April 1965

2 S 1965
2. * 2 April 1956

2 S 1956
3. % 2 April 2014

2 DS 2014
4. % 2 April 1953

2 DO 1953

Question Number : 90 Question Id : 630680169694 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
When did the merging of the Andhra Pradesh State and the Telegu-speaking districts of the then Hyderabad State take place?

013 1DTT TR0 SHOOKD 0163 TPRT2rE T ROS' Senih SFErE 2o DDS0 D))k 88A0E?
Options :
1. #® 1 October 1956

1 0§25 1956
2. ¥ 1 November 1956

1 350208 1956
3. # 1 November 1958

1 350206 1958
4. ® 1 October 1958

1 0525 1958

Question Number : 91 Question Id : 630680169695 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks :0.33
In which year did Andhra Pradesh become the first Indian state that negotiated an independent loan from the World Bank in the form of the AP

Economic Restructuring Project?

AP D55 B DE)00R |FEF S0’ (D0 25080 HOG D §e50(eh B0 TR0 98 )00 2882 Ve 2B e3OH
T RO 80E (DTF & D0XSIB0S 05¢580D0E?

Options :

1. v 1998

1998

2. % 1995

1995
3. % 1996

1996
4. % 2000

2000

Question Number : 92 Question Id : 630680169696 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
APSWAN (Andhra Pradesh State Wide Area Network) was launched with an initial capacity of

APSWAN (30| B(HT8 N & 005 Je5563) 8085 P01 E0DONDR0A.
Options :

1. # 20 Mbps

20 Mbps

2. % 100 Mbps

100 Mbps

3. ® 4 Mbps

4 Mbps
4. ¥ 2 Mbps

2 Mbps

uestion Number : 93 Question Id : 630680169697 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0.33
What is the position of Andhra Pradesh in terms of the length of coast line in the country?

BF0S’ B [0S PChY DB OIIDITT 90 DOeh?
Options :
1. ¥ 2nd

28
2. ® 1st

15
3. % 3rd

38
4, ® 4th

N

Question Number : 94 Question Id : 630680169698 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :



N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following minor minerals’ resource is found in the Nellore district of Andhra Pradesh?

&3 (808 TES’ D DY), PO 53K SOSHTBTS'A JeTSd 2’ EAD0DOE?
Options :
1. Mica

5
2. #® Calcite

SN
3. # Soapstone

FRTON
4. # Black Granite

AR

Question Number : 95 Question Id : 630680169699 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is the smallest district in Andhra Pradesh in terms of area?

DRG0 DO &2 (80D ¢3S OSDTTS' @& D), 2B E?
Options :
1. ¥ Visakhapatnam

ATPIE) O
2. ®* West Godavari

D) Ferdd

3. # Konaseema

PN AN
4. # Srikakulam

BERSN)

Question Number : 96 Question Id : 630680169700 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

With which national code is the area between the Godavari river basin and the Mahanadi river basin encompassing the eastern ghats
designated?

S50 050608 B3580D) &) A8 SE DETTE |F0S0 DBAEN DTS I DOFETE (P00 & 2SO FQes
QBR0IB0E?

Options :
1. %D
D
2.%E
E
3.VF

F

4, ®]



Question Number : 97 Question Id : 630680169701 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
As of August 2022, what is the approximate total installed power generation capacity in Andhra Pradesh?

305 2022 T°¢38, SO|GSNTTES’ HITDODS RNBO DENIS b ) DL NSTEMT JOeh?
Options :
1. ¥ 257GW

25.7GW
2. # 443 GW

443 GW
3. % 3834GW

38.4GW
4. ® 89 GW

8.9 GW

Question Number : 98 Question Id : 630680169702 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
There are how many sub-groups of red soil in Andhra Pradesh?

SOIBNITTES’ ABNEES &d DTTFEN D), Er™) ON?
Options :

1. #* Four

NSV

2. % Two

8o
3. # Three

NWecl
4. ¥ Six

esd

Question Number : 99 Question Id : 630680169703 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following tree species is the most in numbers in Trees Outside Forests in rural Andhra Pradesh as per the India State of Forest
Report 2019?

QOB VE 59 TR O 2019 |DSS0 (M SOBINTTES' @¢h)e> TN &) TEE' & (80D T&) erehvrersS
DE DB &OA?

Options :

1. # Cocos nucifera

g8 Srsdo°

2. # Azadirachta indica

R TF Q0QS

3. # Borassus flabelliformis

ST TBOTRD
4, ¥ Mangifera indica



SroADO° OB

Question Number : 100 Question Id : 630680169704 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

According to the Indian State of Forest Report 2019, what is the total carbon stock of forest in Andhra Pradesh including Trees Outside Forests
(TOF) patches?

R080DS VE 3D 370y O 2019 (HSPB0, €Y NN &d) TE (TOF) SO DT 0(QIBTES e9chsyed
[JNB0 BN A § D0ehH?

Options :

1. ¥ 3.08% of total forest carbon stock of the country

TS IJ0B0 e S ded 5SS’ 3.08%
2. # 4.08% of total forest carbon stock of the country

TS INB0 e EB)S ded 5’ 4.08%
3. # 5.08% of total forest carbon stock of the country

T30S’ I0B0 €9edd EB3S ded5eS’ 5.08%
4. # 6.08% of total forest carbon stock of the country

TFOS'Q I0B0 D 8 dedseS’ 6.08%

Question Number : 101 Question Id : 630680169705 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

What is the rank of Andhra Pradesh in terms of the Recorded Forest Area (RFA) which is 37,2585 square kilometers, as per India State of
Forest Report 2019?

QOACST VE &9 O O 2019 (HS°B0, 37,2585 S 8S'DNES DAZOS STFBS @D (F050 (RFA) 6>
S0|QNBT 0°508 D0eh?

Options :

1. ¥ 8th

N
2. ® 7th
N
3. ® 6th

69
4. ® 5th

509

Question Number : 102 Question Id : 630680169706 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
Dindi River is the left bank tributary of which river?

Q0B S & SO TOAN DEhe 2. &) GDIR?
Options :
1. ¥ Krishna

AN

2. ® Kaveri

5090



3. # Penna

D),
4. # Godavari

afeNTe)

Question Number : 103 Question Id : 630680169707 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following soils primarily found in the district of Rayalaseema make up approx. 66% of the cultivated regions across Andhra
Pradesh?

&3 1808 ¢3S TN B’ (DETSOMT EADOT O Serew, SOIIINTT B0 Fd (oS0’ NIFST 66 %
&8(E0N) &) ON?

Options :

1. * Black soil

SO BiA Jo
2. ¥ Red soil

B I

3. #® Laterite soil

088 S

4. # Alluvial soil

2,010 I

Question Number : 104 Question Id : 630680169708 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following soils of Andhra Pradesh are mostly the end products of weathering formed under high temperature conditions and
heavy rainfall?

&3 1808 ¢3S @O(GIDTTST O Foen @O &el|ich HOVIEN HOTKW 278 STIS0 B0 IBIT FEHSI0 SV
BT oN?

Options :

1. ¥ Laterite soil

o088 I
2. # Red soil

A I

3. # Loamy soil

2088 T
4. # Skeletal soil

3OS (D) Je>

Question Number : 105 Question Id : 630680169709 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Who among the following will hold the responsibility to protect the residents of the common capital of Andhra Pradesh and Telangana
(Hyderabad)?

SO|BDTT DO BOOTPLOE &G TSGR oW (37NT7rE) S'Q JaFRHO E8.0T a3edse & 1808 8
3B R E0erH?

Options :



1. # President
Ol el
2. ¥ Governor

538,06
3. # Chief Minister

NWESTNVeIL2)

4. # Home Minister

20 DO\ e3

Question Number : 106 Question Id : 630680169710 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following was notified as the appointed day on which the state of Andhra Pradesh was bifurcated into the state Telangana and the
residuary state of Andhra Pradesh?

e0|S(N0TT TR0 BOC TGFENT B0 0O SO(Q(NTT @993 Tl DS)IB0D, &8 DS S8
(©OFON0TE T)T &2 (80O 33 B ) 063%?

Options :

1. ¥ 2 June 2014

2237 2014
2. #® 3 August 2014

3 est5 2014
3. # 5 September 2014

5 000 2014
4. % 2 May 2014

232014

Question Number : 107 Question Id : 630680169711 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
According to which Section of the Reorganisation Act should Krishna River Management Board have its headquarters in Andhra Pradesh?

DB $5SVEBE HROSTR D VES (DSE0 E9aT S D 55769 S5 T, (DTS SPT°§00H0 @0 SDTBTS' &o?
Options :
1. # Section 95

NES 95
2. ¥ Section 85

VES 85
3. # Section 80

VES 80
4. #® Section 60

&S 60

Question Number : 108 Question Id : 630680169712 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Sericulture development fund of the 7th Schedule of the Andhra Pradesh Reorganisation Act 2014 comes under which category?



SO(PINTT SB35 IVESE 90 201465°Q) 785 PSSR DERIBIFD 0DS5HR DG  BEAS (803E0 SN0E?
Options :
1. ¥ Industrial Development Fund

TOFNSDINE A
2. ® Electricity Development Fund

BATAVIC R STANRIARATA)

3. # Depriciation Development Fund

R VMa ATSTIANRIARATA
4. ® State Development Subsidy Fund for Small and Marginal Farmers

D), BN D) 57 BH©OZ TR ©9DHH T"oned A

Question Number : 109 Question Id : 630680169713 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Chief Minister YS Jagan Mohan Reddy has a goal of ‘higher score than other states’ by May 2024 on which index?

S0P 0L BV 2HS IS BG O ArDES’ 3 2024 €38, ‘Re5S T°aTed 0B DB Fy B’ FQOTOR ©F S0
Gom) &0?

Options :

1. #® Safety Index

B s

2. ¥ Human Development Index

S @DSYE DS
3. ® GDP

GDP
4. ® Happiness Index

808 D

Question Number : 110 Question Id : 630680169714 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Andhra Pradesh is one of the states that approached NITI Aayog seeking help to set up their own public policy institution to boost development
and drive inclusive growth. What is the name of the institution?

DIIA DOFOAONEAE BN DD HF9OQ FEONETAE 8 FOch HEF TR DOV DT°)EN TOLTTE
DSFON0 FBST A TIPA HOIE0DS T AFOES’ 0[BT 2.5¢3. €3 DO DK DNE3?

Options :
1. * State Integral institute for Growth

VE 20BHIS B.L0°5¢5 DB ('S
2. ® Andhra Aayog

0|5 8a3rhH

3. ¥ State Institution for Transformation

VE AVYLETEAS HB (€5))BAS

4. # State Public Service Commission

DE HDE HEIR EDAS

Question Number : 111 Question Id : 630680169715 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.33
In addition to state’s own tax and state’s non-tax and share of Central taxes, what contributes to a state’s revenues?

720 TBEY D 5065 D), SHAASW TR0 TEY D) -5 HBAKN TOIE DAL TFEFE e, T°(2) SOOI DA
E5°¢50 BYOE?
Options :

1. * Rural development

LANEUCANEA

2. ® Social welfare and nutrition

3 BE HOT oNO DO FNED
3. ¥ Grants in aid from Centre

300 HOD) oY
4. %® Police

ISR

Question Number : 112 Question Id : 630680169716 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
What is the full form of APCPDCL?

APCPDCL 38208} 338 &0 Q0e3?
Options :
1. * Andhra Pradesh Council Point Distance Company Limited

0[S IDTT TS o0 AR 00 OWB&
2. ¥ Andhra Pradesh Central Power Distribution Corporation Limited

SOBINTT OIS DB B80S 5°FHBAS ONBE
3. # Andhra Pradesh Centre for Power Demand Corporation Limited

SOBINTT 0B HB I8 B37r0& 58 )HBAS ONB&E
4. ® Andhra Pradesh Council for Power Distribution Corporation Limited

S0o|BNBT TS HB HIB B(R2TIAS 5°8 8RS OBE

Question Number : 113 Question Id : 630680169717 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

AP Airports Development Corporation Limited (APADCL) plans to construct a customs airport, around 50 km from Visakhapatnam. What is
the name of this airport?

AP QONBYR ) BIOIOE 5T HBAS ONBE (APADCL) DF°DIEL0 D0 50 &S aedS Sr0eS EQ&0)
DITFDF AT, AT O BFAF 0. & DT FAN0 DK NES?

Options :

1. ® Narsipatnam

d8ded0
2. # Anakapalle

35O
3. ® Yarada

O\ Wyopn)
4. ¥ Bhogapuram

Sryso



Question Number : 114 Question Id : 630680169718 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

What is the name of the one-stop resource and support centre for investors in Andhra Pradesh?

SOIBDIBTS' DEPDATEO TR0 DEFS S350 s0BAEN 5 FO(CI0 DD DNE3?
Options :
1. # YSR AP United

YSR AP G0z &
2. ¥ YSR AP One

YSR AP )
3. # YSR AP Single Window

YSR AP 208S JQo&
4. ® YR AP Win

YSR AP

Question Number : 115 Question Id : 630680169719 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which place has Andhra Pradesh secured in the overall ranking as per the Export Preparedness Index 2021 released by NITI Aayog?

DS 3T DA TS DN DS Qes HrDE 2021 (D5°30, BB 07508006’ e30(HINTT & TS0 AODOH?
Options :
1. # 8th place

85 °0
2. ¥ Oth place

98 F°0
3. # 2nd place

285 °S0
4. ® 10th place

1085 °S0

Question Number : 116 Question Id : 630680169720 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

YSR Crop Insurance Scheme 2022 covers losses due to natural calamities for how many notified crops?

YSR D0&& DS HDGHE0 2022 (HDSE0, DY SDAS I HOLOH (HEYS BHEErsed> & AT Sarered 258 Teod?
Options :
1. % 26

26
2. % 24

24
3.%20

20
4.v 22

22



Question Number : 117 Question Id : 630680169721 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
is the initiative in natural farming by the Department of Agriculture of Andhra Pradesh state government.

SO(BINTT TR (DENS S SEIT00 TP T° §T° DT 353 ;P 0H0S O 2.8 TES.
Options :
1. # AP Centralised Marginal Natural Farming

AP B0 Gr0eh D723 3§ AH0
2. # AP Collective Marginal Natural Farming

AP 008 a0 DeTPes Q) §arON0
3. # AP Correct Managed Natural Farming

AP OB QB ST DI*23 09§90
4. ¥ AP Community Managed Natural Farming

AP 8350753 QB 57T D723 559 raH0

Question Number : 118 Question Id : 630680169722 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
In 2022-23, the state of Andhra Pradesh is expected to have a revenue deficit of approximately how many crores?

2022-23¢5°, @30T T (RO DSTET I, FE BISrs Seancdd EOR G0N0 e OTIT™?
Options :
1. # 15,000

15,000
2. # 16,000

16,000
3. % 18,000

18,000
4. v 17,000

17,000

Question Number : 119 Question Id : 630680169723 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Revenue deficit in 2022-23 is estimated to be what percentage of GSDP in Andhra Pradesh?

2022-236°Q BI&TS Sen e80T T3NE), GSDPES’ DO TS0 e0IT® SOHDE0E?
Options :
1. ¥ 1.27%

1.27%
2. % 1.63%

1.63%
3. % 237%

2.37%
4. % 317%

3.17%



Question Number : 120 Question Id : 630680169724 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
What was Andhra Pradesh’s debt to GSPD ratio in December 20227

&2025 202265’ GSPD QN)BE e30(QHIDBT €9 DOeh?
Options :
1. % 22%

22%
2. % 27%

27%
3. % 43%

43%
4. v 32%

32%

Question Number : 121 Question Id : 630680169725 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Seven boys, A, B, C, D. E, F and G, are sitting around a circular table facing the centre but not necessarily in the same
order. Only D is sitting between E and G. C is third to the right of D. Only F is sitting between B and C. G is third to the
right of C. Match each of the boys in column I to his neighbour to the immediate left in Column II and select the correct
answer from the given options.
Column | (Boy) Column il {Neighbour to
his immediate left)
iy A (W) B
(i) G (X) A
B
C

{iii) {Y) E
{iv) (Z) F

D weryoew, A, B, C. D, E, F 0805w G, a8 Vaygrs=o Te5enes cotar KSogrd3 Jeothre SN ®.
QL DODG0ES” EoGHHV0o Feo. D argd E sudaiv G &1)6_3523" EPEND &I @. C, B3 HADDD FED
F008° &) . Sdvo F argdo B cudain C aeged® Srayd &) . C8 HEDDD ared Froos® G Gy 8-
SO 657D A 9273000 8D TorHd st 116S° BEm LDV DT Oy0& DB ADYD JodEL Lol DB

K):DJ‘C)":PD)_ JocwEol.

seeo | sreo |l (0963 e9&cs
(@a:wam)) DEVDDD &Y
D)
il A W) B
(i) G X) A
(iii). B (Y) E
{iv) C (Z) F
Options :

1. ® i-Y, ii-Z, iii-X, iv-W



i-Y, i-Z, iii-X, iv-W
2. ¥ iY, ii-W, iii-Z, iv-X
i-Y, ii-W, iii-Z, iv-X
3. ® W, ii-V, iii-Z, iv-X

i-W, ii-Y, iii-Z, iv-X
4. ® X, ii-W, iii-Z, iv-Y

i-X, 1i-W, iii-Z, iv-Y

Question Number : 122 Question Id : 630680169726 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Six boxes numbered 1 to 6 are kept one above the other but not necessarily in the same order. Only two boxes are kept below box 6. Box 2 is
the third box from the top. Box 5 is kept just above box 4. Box 1 is kept just below box 3. Box 4 is kept just above box 2. Which box is kept at
the bottom-most position?

1 00 6 HOPSENTT Ked 35D DWEN 2ETA D 28E3 GOIDBETON 5°Q) T3 (EXD0ES’ G0BINIIB0 Sew. DY 6 (§0
BOCH DWEW S(Ha3 GOIDFAN. VW 2 20 OB 0 D). W 5 DWW 4 DN GOoDR08. DY 1 B 3 180
$E 00 GOVDA0D. DB 4 VW 2 DS 5E €90 GOIDA0E. Q) 0¢357) NI & VW GOTIDA0H?

Options :

1. ®* Box 4

DR 4

2. ¥ Box 1

DY 1

3. # Box2

DY 2

4. ® Box 5
WS

Question Number : 123 Question Id : 630680169727 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Harleen was born on Wednesday, 11 January 1995. On which day of the week will she celebrate her 31st birthday?

TS 20PTE0, 11 23358 19958 232006, &35 509 3189 HEIT2d TS0 O Fered BEYH0EN0E?
Options :
1. # Monday

B0
2. #® Tuesday

QofF S0
3. # Thursday

H&rso
4. ¥ Sunday

SO>S0

Question Number : 124 Question Id : 630680169728 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at



variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

A. Some cats are hens.
B. Some hens are fawns.
C. All fawns are ducks.

Conclusions:

I. Some cats are fawns.
II. All fawns are hens.
III. No cat is a fawn.

255293 1DFESE SOOI BT O 2R(HSMT 9508, groéemoes‘ Q355X DSFTTE0 TR0 e,
S0 SOV TFRATOS DIEBNSY L EID0DSNIE3S, (HELSO &8y E0TT ©HIO0T STRTOD
dGonosod

PEerSen:

A §) devew §¢0.

B. §Q) §'0 8o%ew.

C. Q) 20%ew 2rehdeN.

Sorren:

L §Q) evew 2o8ew.
IL ©JQ) 20%ex §¢D.
1L & D 2208 5.

Options :

1. * Only conclusion I follows.

BR0 I S5 $BN0A.

2. # Both conclusions II and III follow.

1 0805w I BOCH BTN SOFoN
3. ® All conclusions, I, II and III, follow.

Q) ST e I, I 0805w I SEJEaw.

4. ¥ Either conclusion I or III follows.

SO [ B 1M SOJrow.

Question Number : 125 Question Id : 630680169729 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:
A. Some televisions are machines.
B. All machines are geysers.

Conclusions:
I. Some geysers are machines.
II. Some geysers are televisions.

25523 1DEESE SOOI BT O 2R HSMT 93508, groéemoes‘ R 52X DS TTE0 TR0 e,
S0 SOV TFRATOS DN LD EID0DSNIE3S, (HELSO &8y E0TT @ HIO0T ST O
dGonosod

PEerSen:
A.§) 2D oho|e@ew.
B. ahol@ed) Azsd).

Qo7 ren:



1 §Q) Az aholerew.

1L §Q) (238 BOJ3D.
Options :

1. ® Only conclusion I follows.

B0 I S5 S80S

2. # Only conclusion II follows.

B0 I S5 SN0

3. ¥ Both conclusions I and II follow.

108050 I BO BTN SO0

4. #® Neither conclusion I nor II follows.

ST [ B 11 DD 3805

Question Number : 126 Question Id : 630680169730 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In this question, certain statements are given, followed by three conclusions. Select the conclusion(s) which is/are true based on the
information given in the statements.

Statements:

i. There are six rods, A, B,C, D, Eand F .
ii. F is the heaviest.

iii. C is lighter than E.

iv. B is heavier than E.

v. D is lighter than A.

vi. B is lighter than D.

Conclusions:

A.Rod C is the lightest .

B.D is heavier than only two rods.

C.A is heavier than B but lighter than E.

& DAY, TR DS @S §DTON, ¢ €O SPCR BTN &) 0. (DELNS 8% 5B DSFTeS0
SO DB BTUT(O)D DOHEFOR.

DEedSen:

i.A,B,C,D, E 0805 F @ e TP&eX &) Ow.
ii. F @¢550¢% 2250338,

iii. C, E 0% 8O338.

iv. E $0% B 2038,

v.D, A $0%) 8D3IA.

vi. D $0% B 8O3.

Qo wren:

A. T8 C @) 0e380% 8DTIH.

B. D 3300 Boch 0°&e> 0T 28I,

C. A, B 0% 2HZ38 5 E $0T) 8O3

Options :
1. ® Only B is true.

B S5 SBIA.
2. ® Only C is true.

C S50 STIA.
3. # Both A and C are true.

A 3083w C BOKT OB a.
4. ¥ Only A is true.

A SPB0 IBSE.



Question Number : 127 Question Id : 630680169731 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Select the combination of letters that when sequentially placed in the blanks of the given series will complete the series.

FH P_A _HN_WAF _NP_A

2D 363 By PSS SO GODS I BB I8 TR @& e JocHFod.

FH P _A_HN_WAF_NP_A

Options :
.LYNWFPHW

NWFPHW
2. * NWFPHP

NWFPHP
3. *NWFAHW

NWFAHW
4. ®* NHFPHW

NHFPHW

Question Number : 128 Question Id : 630680169732 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

How many such pairs of letters are there in the word PROCTOR which have as many letters between them as in the English alphabetical
series? (Count both in the forward and backward directions.)

PROCTOR &3 D306, e300 €08 S350 (FE3S” 305 @95 0°0 08 &91) @E.T O, e 035 e EO8 &),
©F.T°® 250 D) ) 0N? (DOCNFL HBA5N JNEZL Dok BYer N8B0 D)

Options :

1. # None

DA S
2. % One

2.5¢3
3. ¥ Two

Bo
4. ® Three

NN\

Question Number : 129 Question Id : 630680169733 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Refer to the given number, letter series and answer the question that follows.
(Leff) N3E4AS2ASUMKLSE54KL3YASD4CESUKMNA3 U S5 (Right)
How many numbers in the above string are immediately followed and preceded by a vowel? (Count from left to right only.)

S SRS DoPS, ©&.0°e (BB KOO (808 (D950 SSTrerd0 A 508.
(DBD)N3ZE4AS2ASUMKLSES4KL3YASD4CESUKMNA3US5 (0&)

2 (36365° S50 08050 TR €98 NSY, €TIEN KHed HDOWLEN DAY E*),00? (D5 OB HOAE S|
B38).0904.)



Options :
1. *® Three

W)
2. ¥ Four

e
3. ® Five

5080

4. ® Six

e

Question Number : 130 Question Id : 630680169734 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33
In a certain code language, ‘SORE’ is written as ‘FSPT’, and ‘TANE’ is written as ‘FOBU’. Which of the following are

WORD CODE
() COosy |(W) UTIG
(i) FIST [(X) MNBO
(iii) PALM |(Y) EFTW
(ivy USED |[(Z) ZTPD

258 D8 E€ 2, ‘SORE'D FSPT 0 gratwso 20008 cudosin TANE'D FOBU e graieo 280od. @dyd 86
270 PS°00 & $0O " DBD VAT BEen &Y D ID?

DeSo g&
(i) COSsY |(W) UTJG
(i) FIST (X) MNB®
(ii) PALM |[(Y) EFTW
(ivi’ USED |(Z) ZTPD

Options :
1. ¥ Only i-Z and ii-W

B30 i-Z AW ii-W
2. % Only i-Z, iii-X and iv-Y

B30 i-Z, iii-X 0805w iv-Y
3. ® Only ii-W

330 ii-W
4. ® Only iii-Z and iv-Y

B0 iii-Z SO iv-Y

Question Number : 131 Question Id : 630680169735 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



In a certain code language, ‘CLOSE’ is written as ‘DMPTF’. and ‘MUTED’ is written as ‘NVUFE’. Following the same
pattern, all the given options represent correct matches except one. Find the option with the incorrect match.

WORD CODE
(i) PRISM | (W) QSINT
(i) PRIMS |(X) QSITN
(i) MIRPS |(Y) TSINQ
(iv) SRIMP [(Z) NISQT

298 :)QQ EE& eexeS”, ‘CLOSE'D ‘DMPTF 52 grasto 28006 sndain 'MUTED'D ‘NVUFE’ 9D Jreito 20H00. 9B
RAPTTR VB0, 260 Sy RDEIED ) JoDFD DJD VBT VLL DT ew. VISD TVEE &) JodEw
SR Jods.

D60 g&

(i) PRISM | (W) @SINT
(i) PRIMS |{X) QSITN
(iii) MIRPS |[(Y) TSINQ
(iv) SRIMP | {Z) NisQT
Options :

1. # i-X, iii-Z

i-X, iii-Z
2. ® {i-W, iv-Y

ii-W, iv-Y
3. # i-X, ii-W

i-X, ii-W
4. ¥ iii-W, iv-Z

iii-W, iv-Z

Question Number : 132 Question Id : 630680169736 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Himani walks 120 m towards the north direction from her home, and then she turns right and walks 60 m. After that, she turns right and walks
160 m to stop at Point A.

Based on the above information, which of the following statements can be the reason(s) behind the assertion made below .

Assertion — Himani is 30m away from her home.

Reason A — Himani takes a right from Point A and walks 60 m. She takes a right turn again, walks 10 m and stops.

Reason B — Himani takes a left from Point A, walks 10 m, takes a left again, walks 180 m and stops.

Reason C — Himani takes a right from Point A and walks 90 m. She takes a right again, walks for 40 m and stops.

TR 5 R0E3 OB GBE0 B8 120 WEXD SBNO0B, 53 e SoATHE0 BB 60 WEIRD SN0, €8 ST geh,
S ABHEL S8A 160 WD SAD JPON0E A 3K KBS0,

2 DSTEPE0 SEFSOTP, 83 [B0B (DELXE’ DD AMHNN TN (HEEISOZ KOSELI0(EN) SO

TS - TSI €55 ROE3E 308D B0 GOd.

SGEI0 A - SFSTR ONOES A S0G HADHE BOA 60 WD SAD0B. S HDY HIADY e BOA, 10 DL SGD
eSS0,

SBE00 B - SFETQ FON0ES A D0 BB B8, 10 DEd SAD, 0D JHDBHE BOA, 180 DI SED
esN*0A.

S3E90 C - 3PS5 FO0ES A 0B FoADHE BOA 90 WL SAD0H. S0 P LADHE B, 40 W SAD
SAFROR.

Options :

1. # Only A and B are the reasons behind the assertion.

A DB B 3¢50 S B8 sedemrew.



2. # Only A is the reason behind the assertion .

A PSR TS I 528€0.
3. ¥ Only A and C are the reasons behind the assertion.

A DBAW € ST(H30 7N FDE seSeTew.
4. ® Only C is the reason behind the assertion .

C 3530 7 FDE 5°8€20.

Question Number : 133 Question Id : 630680169737 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

‘A & B’ means ‘A is the son of B’

‘A % B’ means ‘A is the father of B’

‘A @ B’ means ‘A is the sister of B’

‘A # B’ means ‘A is the daughter of B’

itis giventhat ‘' E% M @K & U#H’

If an Assertion is made that ‘H is the grandmother of M, which of the given reasons A, B, C would prove the assertion to be correct?
ReasonA-L@H,L#Q

ReasonB-R & H,R % W

ReasonC-U@R,Y %R

‘A& B’ @0 ‘A @ 358 B 330E) F055°B0cy’

' AB'@OT) ' A9 358 B B3nE) o'

‘A@B’ @0 ‘A X 558 B B3wng) N8’

‘A#B’ @0 ‘A @ 358 B BwEy $055°8°
"B%M@K & U #H @ 23950808

TTR9R0 o558 M G30E), €9550250009Q) 208 S 0N, RS SIS A, B, C 03 SEETOS ), DB IR 512 T dE?
500R0A-L@H,L#Q

5°8€0B-R&H,R% W

5800 C-U@R, Y %R

Options :

1. * Both A and B together prove that H is the grandmother of M

A BN B B0 D H @9 358 M T3y 963020302 @9Q K2ssy Taron
2. # Only A proves that H is the grandmother of M

H @) 358 M BBy €96352502 @ A (553 B02ed TR0
3. # Only B proves that H is the grandmother of M

H @3 358 M By €9652502 @ B S(ehad $023°s) TR0
4. ¥ Only C proves that H is the grandmother of M

H @) 358 M 3By €96352602 ©Q C S(ehadd Br23ed) TRWodD

Question Number : 134 Question Id : 630680169738 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which two numbers should be interchanged to make the following equation correct?

18+36+6-12x3=3
25523 DWESTR), OB TOHTTAE & BO HOPLO DEDYB0 S0 )E?

18+36+6-12%x3=3
Options :
1. % 18and 3

18 D8O 3
2.¥ 12and 6



12 DB 6
3. % 12and 18

12 O3 18
4. ® 36and 12

36 DO 12

Question Number : 135 Question Id : 630680169739 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which two numbers should be interchanged to make the following equation correct?

135+ 3 +36—44 x 9 =81
RISV DDEBETRY, DB TONETAE  BOH DOPEEID DEDIBE0 ST )O?

135+3+36-44x9=-81
Options :
1. ® 36and 3

36 SDOAW 3
2.¥ 3and 9

3 0B85 9
3. % 135and 9

135 B3 9
4, ®# 3 and 44

3 0B 44

Question Number : 136 Question Id : 630680169740 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



Rohith is an aspiring entrepreneur wanting to set up a CPU manufacturing unit. Since
technology is changing very fast, he wanted to carefully gauge the demand and the likely
profits before investing. Market survey indicated that he would be able to sell 2 lakb units
before customers shifted to different gadgets. Rohith realised that he haet to incur twe kinds
of costs - fixed costs (the cest which does not change, irrespective of the number of units of
CPU preduced) and variable costs (= variable cost per unit multiplied by number of units).
Rohith expected fixed cost to be I50 lakhs and variable cost to be X150 per unit. He expected
each CPU to be sold at X200.

Rohith was sceptical that per unit variable cost might increase by 5% though the demand
might remain the same. What will be the expected decrease in profit?

oS CPU 6303578 eoeDeSsw i)o’beqo BOTODDD 08 BEr\2rs FPOFAEDD. JroSAES
T DACTT  ATDEID) 060D, DEPerd DE Ao I3 &y Aocd SudoIv ENCAN'S
PO SBPGENT 900D AT 98I §°d)§)a°lci). SRIOD DD WQ@S&)Q) QATCE0D
B 2 VL EDFIPID DEONVOTOED BFTYES VI ATDoDod. Fard Bocd 0570 GO
2300390 000D (JaTP0Tr D - fgo o] (eefey; DBoert.d CPU auede) 700&)53 Qoo
S0, SPCD GO ) SoBaID 89580 &6 (oedeS 8 @?30 G56 0D ‘:2)03_.)55
(LEIOIEIEI0H ). Tord 20 #06 350 ©5e» BATD BPO 6 AP I150 E080GD

900 T, 2 )y CPU 2003 DE000c35CB0065D 9B e330TCD.

ASTel 298 Do gag_:bbesé, QDS VG G36 5% DOAIIND Fard Dodaromrt). e0250es”

232000 BHOO SDoeh?

Options :
25%
1. ® 23%

21%
2. ® 21%

22%
3 % 22%

30%
4. v 30%

Question Number : 137 Question Id : 630680169741 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



The following pie chart shows the distribution of investments generated for mutual funds
from different categories of investors.

10% 15%
10% ‘
~ 17%
20% y oo
2B%
= Kotak flexi cup fund = Axis Blue chit fund
= 5B liguid fund ICICI Pro liquid

= UTI Asset Management = Adithya Birla 5.L liguid fund

If the investments by Axis Blue chit fund is 3,400 crores, then match the following
investments (Column A) with their correct funds (in X crores; Column B).

Column A Column B
P) ICICI pro liquid 1) 4000
Q) UTI Asset Management | 2) 2000
R) Kotak flexi cup fund 3) 3000

& 200 DT DDO STO DEYPLLTADO Mot AFFENDS Doly Fdo DEBocseItd

DEVLIEDR DO AFEDE0D.

10% 15%
10% "
20%

e

2B%

w Kotak flexi cup fund = Axis Blue chit fund
= 5B fiquid fund ICICI Proliquid

= UTI Asset Management = Adithya Birla S.L liquid fund

Kotak flexi cup fund = &¢o5 %:)éh &5 008

SBI liquid fund = SBI Bé&& ok

UTI Asset Management = UTI @?\)395 E}Jﬁlﬁéoﬁ

Axis Blue chit fund = cﬁ:"éjb AV ot Dok

ICICI Pro liquid = ICICI §F° ®3¢&

Aditya Birla S.L. liguid fund = U&@_ﬁ doeS.L. E)és& Dok

QP8 g D65 Dol TRQO® eercden 33,400 & eso00dd, € 306 REREND DEVEIDO
(D A) o7& 23D Dawwd (X F0s”; 50 B) ?\)Oﬁﬁo;)od.

S A S0 B
P) IcICI §F Bacs 1) 4000
Q) um @?abﬁ DT ol 2) 2000
R) Fas ?‘é’éh 5 Dob 3) 3000

Options :



P-1;Q-2; k-3
L v P1Q2;R3

P-2;Q-1; R-3
9 # P-2,Q-1;R-3

P-3;Q-2;R-1
3. % P-3;,0Q-2; R-1

P-2;Q-3: R-1
4 % P2;Q:3;R-1

Question Number : 138 Question Id : 630680169742 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
0.33



The following bar chart shows the trends of total foreign direct investment (FDI) into a country XYZ from all
over the world.
30
2523
25

20

15
1012 W5 o

10 55
.
0

2017 2018 2015 2020 2021

X¥2Z's FDI (Million Euros)

Years

If XYZ’s total FDI from European countries was proportionately the same as total FDI into country XYZ from
all over the world in 2017 and 2021, and the total FDI from the European countries was 3 million Euros in 2017,
then match the following questions in column A with their correct values given (in million Euros) in column B.

Column A Column B
P) XYZ’s total amount of FDI from European countries in 2021 (rounded off to two 1) 8.54

decimal place)
Q) XYZ’s average FDI from European countries in 2017 and 2021 (rounded off totwo | 2) 11.65
decimal place)
R) The average FDI from non-European countries in 2017 and 2021 (rounded off to two | 3) 7.32
decimal place)

€ S0 26 7§ PDoto Jendre svod. XYZ B80e5°8 DD Dwdo DB DOLE DEVRIC (FDI) So&era

ATNE0b.
~ 30
8 25,23
a s
=
2 2
=
£ 15
=) wiz MY
o 1 —pgs
e |
0
2017 2018 2018 2020 2021

Years

XYZ’s FDI (Million Euros) = XYZ a308) FDI (Do®oie aloefen)
Years = ";aoaj@:p“w

2017 &° o8ar 70 Dol DD XYZ © 200go FDI d0dasn 202165° Hiocso denanren Sod XYZ 83068
DD 2o FDIS trarraP B5°00 DAPIOTT, €908 3 WDODS oNPTTT &odl, HMHD AS'D & S0d P3O

DD BS® (DS onrFed”) @ oot 23 Devdod DT orol.

Sdvd A S B
P) 2021&° 28 G0 o0& XYZ cbog); 2oogo FDI (Sot Gwrot Faresh Qrg dobecdod) 1) 8.54
Q) 2017 bt 20218° o8 Sweo Ao XYZ & DDy #ritw FDI (Goch thwros Foroth 270 2) 11.65
Sobedod)
R) 2017 s0dain 202165° 283rabes 770 0d DDy Wit FDI (To twmos Fraret 78 3)7.32
Sobedod)

Options :



P-1;Q-2; k-3
L ® P1;Q-2;R-3

P-2;Q-1; R-3
9 # P-2,Q-1;R-3

P-3;Q-2; R-1
3 % P-3;Q-2; R-1

P-2;Q-3; R-1
4. v P-2;,Q-3;R-1

Question Number : 139 Question Id : 630680169743 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
0.33



In an Engineering college, the minor examinations were held for every second month. In a session during July
2020 - May 2021, Akash of B.Tech. 2% year appeared for each of the minor exams. The aggregate marks
obtained by him in each minor exam are represented in the line graph below. Study the graph and answer the
question based on it.

L sip 520
- 450
500
N g 43 420
2 400
300

Total Mar

200
100

July Sep MOV lan Mar May
Month

In which minor exam (in month) did Akash obtain the highest percentage increase in marks over the previous
minor exam?

2.8 02JB0H SvFes’, DA Goctsd DO 6 DBLen AdAD. arg 2020 - D 2021 25| 00" 2BAD
PN, B.Tech. 20 2oDST7IS 306 &55°R PO DDy DOLODY 0B TFCoITIED. DA D6 DAL’ e
Tod DY DA O BIDD O oS’ RID0SLET0D. TP I3[0 B, TP LBTPCOTT HFY D

RIS QDS{)&.

600 510 520
450
500
asp M g
£ 400
L)
= 300
B
2 200
100
o
July Sep NOW Jan Mar May
Month

Total marks = P8 O°C0),e0

Month = 2e

July = e

Sep = ?o?goeaé

Nov = daoexd

Jan = 220

Mar = 2570y

May =0

D 26 HOLES (DVES’) e55°R AND D6 DOL Lol WSS FBo D) O TForrd ?
Options :

November
1% Sdoed

May
2. ® 2D



March

3¢ &'JJ"GT)

September

4 % ‘ogo&)()

Question Number : 140 Question Id : 630680169744 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

The bar graph provided below gives the data of the production of pipes (in lakh tonnes) by three different
companies A. B and C over the years. Study the graph and answer the question that follows.

22
% o 5 85 se 22
E 80 75 76
2 70
:E 60
—5 50
g 40
¢ 30
T 20
s 10
e D
E° 2015 2016 2017 2018 2019
g [+ |
L mB 52 65 76 86 92
me 40 52 73 74 50
Year
mA mB HC

In which year was the percentage of preduction by company C to the production by company B the maximum?

& 800 ©0DOSIERD &6 TPD, (16 EDY DodSTmO 0P DBD ZeJe0 A, B 500010 C © pido &8y3
(vg ea;\‘n‘loé" ) BBE), DITOV OBOD. TPO IEIONV0 B2, & 308 HF) D VAT D0 WROE .

., 100 92 90
v 90
2 %
'% 60
— S0
< 40
»
¥ 30
a 20
5 10
E 0
g 2015 2016 2017 2018 2019
§ mA
& [mB 52 65 76 86 92
mC 40 52 79 74 90
Year
mA mS BC

Production of pipes in lakh tonnes = 25p»e» e@ﬁ? (XA t'.o.f.).)rle:)e'i‘5

Year = “&ODOJOO

D LoDE00E° 0D € gD DAL EEYD T80 500 B Tr(T° GO0 DORIED GNGD TB0 ST

(1001 €00 ?

Options :



2016
, ® 2016
2017
3 @ 2017
2018
4 % 2018

Question Number : 141 Question Id : 630680169745 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



A table is given, followed by two statements labelled Assertion and Reason. Study the given in the table,
Assertion and Reason, and select the correct option with respect to the data given in them.

The following table shows the number of different types of courier services (X, Y and Z) handled by ABC
General Courier Services in the year 2010.

Month X Y 7z
Jan 230 715 630
Feb 250 085 1750
Mar 1820 048 745
Apr 295 1085 3680
May 229 723 1468
Jun 241 1032 1084

Assertion: If all couriers sent are of X type costing 101 per courier, then the total revenue through X over the
period shown is 23,09.565.

Reason: 3055 is the total number of couriers sent of X type.

28 DOS QOEICOH, T°D BTG TPGR DOOOID SPOLR0 9 D0} Totd PSIDY &) a. ?&J@S&S"

QOCEICR) &P, ©RTT) aPCSR) BT SPEEFLD IE{OTD0 @0, aeedes” QICRICD DDTVE VDL LT
Do JocoFol.

2010 }t}oaje:ﬁ:,fjoeﬁ" ABC 25065 680106 }’{)65?05 o ﬁ)ds’bvmr}mdé DG osre FoHowo now
(X, Y a0Bos Z) Do 308 HHE crineod.

e X Y Z
o8 | 230 715 630
S0 | 250 085 1750
arey | 1820 048 745
9% 295 1085 3680
=, 229 723 1468
S 241 1032 1084

TP : Do D) FdoHGeD aqéﬁzy 60065 101 BcHL B3 X 650 900083, PR 1;3?55:)@6‘5 X oo
Todd Ao esmraio I3,09,565.

5°0es0: 3055 930 X 680 Dowd o EBoow Doy

Options :

Both Assertion and Reason are true, and Reason is the correct explanation for the Assertion.
| & TPOD a0dOiw SO0 JoGT HPMW, aB0in SOk B8 SPHRS) DO JOER.

Both Assertion and Reason are false, and Reason is not the correct explanation for Assertion.
) % PG 2080iL SPUe Dot D0 S, andoin ariids) faase.)éa‘s SO0 A0 De0is SCL.



Assertion is true but Reason is false.

-~ TR DJAB T 080 B,

Both Assertion and Reason are false.

4% TPED B3 SPGc0 Toti Ofog.

Question Number : 142 Question Id : 630680169746 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Calculate the mean deviation from the median for the given observations (correct to two decimal places).
3,7, 14, 18,20, 25, 39

PORICD HAYLIVE T SOMIBOD K0C DD DSVTDY T ool (Bocd S=wrod b—?m-og) 2030000l ).
3,7, 14, 18, 20, 25, 30

Options :
7.04
1. ® 7.04
7.
2. % F412
7.14
3. % 7.14
7.29
4 29

Question Number : 143 Question Id : 630680169747 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Find the value of the first quartile for the given observations.
23,10, 12,19,22,7. 9, 54

QI 20IVSOS T S 58S (£580Tr030) HeLd SAFDOE .
23,10, 12,19,22,7,9, 54 -

Options :
8.5
1.¥ 9.5
i0.5
7 % 10.5
1.5
3. % 1.5
12.5
4 % 12.5

Question Number : 144 Question Id : 630680169748 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks :0.33

Find the standard deviation of a distribution whose variance is 49.

J08DS) 49 &) Doded g FOrds DIOTIY ST S0l
Options :
49?
)
1. % 49°

V7
2% V7

.
3.7

49
4. R 49

Question Number : 145 Question Id : 630680169749 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 033

A table is given, followed by two statements labelled Assertion and Reason. Study the given in the table,
Assertion and Reason, and select the correct option with respect to the data given in them.

The table given below shows the monthly incomes (in X) of 10 employees (E1 to E10} in an office.

er | 2 | e3 | eal es [ ee | 67 | es8 | e9 | E10
4630 | 5420 | 6100 | 7250 | 4640 | 4720 | 5980 | 7680 | 6946 | 6875

Assertion: %6,014.1 is the arithmetic mean of the monthly incomes of all the 10 employees.
Reason: Mean = total sum of observations in a #ata set / total number of observations in the data set

28 DHE QOICOR, T ST(S D W SOOI SPEE0 9D D) DRI T [SIRD 6% 0. ;3%335&36
QOIS T, VTP TGS DO SPEETFOD BE(OJ0 B, aredes’ QWD DOTVE) IRANDEIOTT DG

DoDEA JoFod.

€ 800 RS DYS 28 svov5omoe3‘:) 10 sved e@m (E1 So0d E10 9505) doard eswroirody (I85°)

NN,

El E2 E3 E4 ES E6 E7 E8 E9 E10
4630 | 5420 | 6100 | 7250 | 4640 | 4720 | 5980 | 7680 | 6946 | 6875

TGS : 36,0141 936 0G0 10 008 &S(HO DOTE STrao IS, e0EHEZ0 -

0630 1 DD = 208 AT0F He S5°D D0 DOIVDL DKI0 / DT DTS’ D Ddo
DOIODHO Doa

Options :

Both Assertion and Reason are true, and Reason is the correct explanation for Assertion.
1% TPED DBOID S°GEa0 Tt DB, «VO0IL SO0 €30 TPIRDED VDR JeTE3.



Both Assertion and Reason are false, and Reason is not the correct explanation for Assertion.

. # SPERS DOBOKD SCEa0 Tl Bady, VBN TSRS RECLIED S0 VT DCEs 5.

Assertion is false but Reason is true.

-~ O B2y T S0 VBHD.

Both Assertion and Reason are false.

4% TPED B0 G0 Dot Oibb.

Question Number : 146 Question Id : 630680169750 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

The geometric mean of two numbers 4 and q is 8. Find the values of q.
4 20003 q B9 Bot VoW e N0 8. g DeadL SR DL

Options :
16
1.v 16

4. % 2

Question Number : 147 Question Id : 630680169751 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :0.33

A statement is given, follewed by two statements labelled Assertion and Reason. Read the given in statement, Assertion
and Reason, and select the correct option with respect to the data given in them.

The mode and median of a moderately asymimetrical series are 163.5 and 124.5, respectively.

Assertion: Mean of the given moderately asymmetrical series is 105.
Reason: Mean — Mode = 3 (Mean — Median)

2,8 z)egs raase.aéo&, [ ] Lo\ TG B0 SUGERo €99 DO bé&)d&) BocD HBLNRD &I Q. :{JQS@‘ ”Qase.)cia

TP, TR DOBAID SOEPVD ICHOII0 3. artdes” QORI DDT VS WML DT DeDED DocEod.

& R FrRSoT &Sy B aB0E); L3RIV SOOI LIS DV 163.5 ddasw 124.5.
TPBD: AED & DS RSO ) 3L A, drfew 185,

Sedfao: DD ~ BTVYEe = 3 (DefeD ~ DVEIBo)
Options :

Both Assertion and Reason are true, and Reason is the correct explanation for the Assertion.
LV PR SOOI B0 ToG® "a)QK)é), 0B0IY BPCLI0 9D TR RBR DDOET.



Both Assertion and Reason are false, and Reason is not the correct explanation for Assertion.

. # TG DB SPGEa0 TOLL® Bady, SOOI TPER) QDG SO0 VIS DDCE SPC.

Assertion is true but Reason is false.

2 % TG VPAE B 5700 B

Both Assertion and Reason are false.

4% TPRD O3 SPEe Dot 01:5.

Question Number : 148 Question Id : 630680169752 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
A statement is given, followed by two statements labelled Assertion and Reason. Read the given in statement, Assertion
and Reason, and select the correct option with respect to the data given in them.

The median of the following observations, 10, 11, 12, 13, K, K + 2, 68, 79, 81, 82, arranged in ascending order is 63.
Assertion: The value of K is 62.
Reason: Median of n even observations is {{{n}/2)th term +(n/2+1}th term)/2

2.8 DG QOEIC.0D, TP BT PR B0 560 €97 DEY DLIED Toth HDELIDED &%) 0. ".JQSGSG QORI

TP, e2e77 TP BOIWD SEOLTFOD) RHCI{O0D0 B3, TS’ rnai)seada DT OL LIOMLOTT DT DeDED
Jdocw&od.

H8Ferden 10, 11,12, 13, K, K + 2, 68, 79, 81, 82, <0 e85 (E:00¢5 e0s08 3P 73 s0 550 63
OR: K Densd 62.

S°0m0: N D0 HDOYBL DSssebo (((n)/2)e Do +(nf241)s $3650)/2
Options :

Both Assertion and Reason are true, and Reason is the correct explanation for Assertion.
| O DOBOID SPEEI0 ToC VPO, VDTN TG0 DG TPEHSD DB DGR,

Both Assertion and Reason are false, and Reason is not the correct explanation for Assertion.

) ® DO DOVOIY SPGE0 T Bady, SOOIV TG raasa)éa SP0E90 TR 0 SPCL.

Assertion is true but Reason is false.
TG DFAE B 500 B

Both Assertion and Reason are false.

A% TPRD OB SPGe0 BoCT® 0303.

Question Number : 149 Question Id : 630680169753 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



Calculate the mode of the following data.

SizeofShirt(in |25 26 |28 (30 |32 M |36
cm}
No.of Persons |16 |18 |23 |58 |76 8 |3

& 308 DT cﬁ_‘osb [ATOLBLF N ) ejébcn:‘)od .

&"b?ww (o) (B |6 |8 [30 |32 |4 |3

DA 03y 16 (18 (2 |58 (% |48 |23

Options :
30
1. % 30

31
7 & 31

32
3.« 32

33
4. ® 33

Question Number : 150 Question Id : 630680169754 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

A student’s final scores in Mathematics. Physics, English and Chemistry are 82, 86, 85 and 75, respectively. If the
respective credits received for these ceurses are 3, 4, 3 and 1, find the appropriate weighted average grade
{correct to 2 decimal places).

fiedeso, FASTYO, 30rie BOID BIPAD TR ws DEegD €308 Db ‘2)"3}9) SO 82, 86, 85 0dBosw 75, es

B0 202200 AN SKHI 3, 4, 3 S0003D 1 9008, BRD SraTes et GED SfTood
(2 o703 FTOLH J500308).

Options :
83.64
1.« 83.64

t

N
th a
b ba

8
8

ol

2. %

[ -

85.96
3 % 85.96

86.23
4 # 86.23





